ST Yo 9T f¥reres Ut (UPTET) udfier-2021

(CLASS :
ST Aigd &1 W91-U3

PART-I/9TT-1
Child Development and Pedagogy
e Tererta War T9TeTur et

1. The main characteristic of basic instinct is that
which is found

e Ui i Tk U@ fagtear § S uwfht

et &

(a) Only in Cats and Rats

Haa el o1 ffeerat §
(b) Only in human beings/m T@&ﬁ ki
(c) All organism and it is inborn and natural
ot Tl & qer ST o St et 8

(d) Only in Artists/ac HeHR §
Ans. (¢) : T 30t T ¥@ e a5 8 5 T woft
iforet & qreft SR @ q9n S J Sl B 2|
Tage & IER— ‘o Y9 TEREE A S
TR gy R, St sl @ et fafsm ot @ aeg w5
3@, IWH Aq M 3, 3 I@H TH G TER A
IS IASHT N ITT B IR 3T T T
e & @ & B A FH ¥ FH TH TER A R &
ST T SING L & forw are w81
Fergrer 3 YT ygfeat at fre feviwand sanht -
1. 9ot vgfuat ST it €
2. ga-vgfaat @t witret & uwgue Rl S §)
3. gt gt eed @ R g €
4. g1 sgfat 9w @ A E
I g F g W fauear feeTa % s & W
fergroaretl @ waEar yefid #wd & o 5 fwew (o) # B
ara: fahed (o) @ 71
2. The right to free and compulsory education for

children between age group of 6 — 14 has been
included in Indian Constitution as

ardia d@fgema o 6 —14 o6 & seal & fog
fryew @ erfard forem o1 et f &
I 8

(a) Article 15/37 3% 15 |

(b) Article 26/37=% 26 ¥

(c) Article 45/3T5% 45 |

VI-VIII)
(arrear fafer : 23 e, 2022)

Ans. (d) : AT GfeaE F 6-14 98 & s== 5 fag
fges 3 AfER frem & SR oq.- 21(A) #
HIECES

3.~ 21(A) T 3. 863 HfaEH TEEA 2002 FW Ser
T fEH 6 ¥ 14 a8 & F=d & fou fyes 9 sifErd
Tyt & atferr feam e 2

3.~ 15 TF foelt off A & @7 fa, =+, fofm,
T T S Y o MR W AEHTT T B Hehell 2|
3.~ 26 wfiish Pl 1 WA B T 2|

3.~ 45 .45, 6 a4 § FA MY & qAH F AT
TR e -1 i R 1 Susy vt 21
IF-21(A) TSR it qet 1 I @ o7 faheq (d)
T 2

3. Kretschmer has classified the person in one of
the following main types

THITHY 3 =k ol T o | fore v wardl &

affera forarm §2

(a) Athletic/GEIasH™

(b) Asthenic/ TR

() Picnic/Te

(d) All of these/378 | weft
Ans. (d) : TR A1 & 3BT § IR T T 1925 H
e 1 A T SR § i e i
TR (Asthenic)— TH YHK % =Afh W—‘Tﬂﬁ g
g, T AR B HEE W el ST 21 S RN
T, e e, WA Bie, g-W @ F U 8 2
3 G B AT BT THE B & |
TSR (Athletic)— 9 YHR & ARG gB-I8 3R
W B 1 A G e, 39 g8 Heed fed gt
F1 3 T ¥ TR TR R Ad § QS s
F g o Far S 2
MR (Pyknic)— 39 THR & AR $5 § A1C, BIC
e 3R =S el B4 &1 F Hieeh Bid &1 T
ARl FT TS ot el I 2|
~9f% T T THR HIR T TG 5T § o fabed (d)
T 7

4. Purpose of T.E.T. is measure which of the
following?

HEA. @ 29T e o femrmrent wToT #72
(a) Aptitude/3TeraeT
(b) Intelligence/sif5e &

(c) Attitude/3Tfrgf

e

(d) Values/Hcd
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Ans. (a) : DE3A. H VYT ARRWA H AGT HET B
stfremay stfemr freft & foem & =afe & w6
gy i falme awEw o e ew@ s e
TR % STAM B I F 81 e st whe
et fafvre & § =i & sifrmar &1 799 3 & fo
T # S B SHIOR % ALER - A =fe J
o #E wwm, O Sl R F weE e g S
fpelt T, Mg, PreTA T I, Y T B H TERE
1 39 i1 i diaeh a1 @ 9 98 A st afvweor &
T F G F FH I
- HEA R olem, @fe sfema wleo,
fefcdi s o o1f S R & 9lRT & e §|
5. Consolidation theory explain which of the
following?/&e== @ fagra f & & fermant
ST YT &7
(a) Memory/@ﬁf
(b) Leaming/m
(c) Motivation/ 3RO
(d) Creativity/gSTIcHBdT
Ans. (a) : G599 1 fagra Wt & = #2198
fosid g &9 § faofa famfor & sfkam qon seqdier &
T I A FT 31 9 Rsid & R 5 &
it # 3T YaA Hufa Wt 81 A ag gE
g fofar o1 fmior ear @ St gmen g § gers
gl 21 o ad eafw fouig fmfor & =y @ oW
gt gl EeAA @ fagia AR § ogEeed &
Tuge ¥ Tl @ e ST, SRERT, gl
¥ ety FE @ 2|
I faheq (a) 9 B
6. Who has given the Concept of Educational
Quotient for backward children?/ﬁl@% ATeTehl
& ot Sifares wifeer &t sraremoT feRea & 37
(a) Schonell/3M+e (b) Gorden/TE"
(c) Burton Hall/& &1 (d) Cyril Burt/faRa s@
Ans. (d) : B ae= & fou s afeg & e
fafter s 4 & 21
¢ & ITAN— ares F Vs ey 85 § FH a
2 =9 gl s ®el S 9ol 2
e e & Ve foa @ 9w s gheE &
3FelrEl S ST wfey erefd E.Q. % g ot &d § |
Jifares dfed B.Q. = e 3 (EA) %100
e 37 (CA)

8T E.A. = Educational age
C.A. = Chronological age

7. Which among the following is different from
characteristics of a good test?

e § ¥ - sw ufegor @
Tergroramait & frer €2
(a) Validity/aem
(b) Reliability/faeae-aar
(c) Objectivity/=fe
(d) Aptitude/3AfHerHar
Ans. (d) : 31emar; frdt w9 qderor i faeanet 9
fir 21
TEE F TAUE & JJEAR—IT T H
fergtorarett &1 2 3avEs § S I favivard s wleror
% fomfor & smumew Rrgid & 9@ §
dfh FE ot wdeor, st AT SR S SEH o,
e & S Sifermar U 3uW gderor @t faiaret #
TE I 81 3: foehew (d) W R
8. Which of the following is not theory of
intelligence?

for § @ w-wn g o fagr T €2

(a) Two factor theory/fs T & f&gid

(b) Unifactor theory/Tsh Tcd ol f&gid

(c) Theory of regression/ SN & fgia

(d) Multifactor theory/sgdc <hl fgia
Ans. (¢) : YT & fagid, afs & fagia 9 gefem
T 2
JATTHA T fagia— @ s duEe & faeih &
It ot 2, fgeh wiures gHEwes S §
YA % o & oER- ‘HaW # #mr-fuar & fawda
07 9 9§ )
AR & AFEN— Tadwmer A & &
SReTeh G A S AR SR fre Fif % wE-R
# %9 fr Fife F Fa= g F g e g1
St fode a1 Rgio—Siee, tead @ Rgie-fe e,
=, 9gTe # ei-areRs; ¥ W e F faefh € 9
T & Ragia T i €)oo - e (o) T R
9. Which one of following is not ductless glands?

frreafafaa & 9w sr=a-ardt wfver T8t 82

(a) Pituitary glands/rgy s

(b) Adrenal glands/TfgAeT If~e

(c) Salivary glands/R

N1 11 d e lOTF
\u} I lllelu glallub/
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Ans. (¢) : R I H = FE I F ST T AT
Sl
ah:aﬁﬁﬁa—mza@ﬁa%mmg@
(et fr) sy aify, dU-geRgs G, S AR
A & S TR ¥ Te-Te F gmi-g oiedl &1 3 g
R & fafte offi d Tgae 3w @ fafiE s
g1 OR 3y v IfEndr Oy @ Her e & e
& T T R 3 fAweT (o) 9 R

10.

According to Piaget the second
cognitive development is—

TaATTeTen Terenra et feftar srercer ¥
(a) Formal operations stage/3Mq=Re Hfgham faeen
(b) Sensory motor stage/ﬂ'éa:fm TMHeh 3ATET
(c) Pre-operational stage/Jd SfshaTeeh 3TawaT
(d) Concrete operations stage/qcﬁ BIERIEEEE )
Ans. (¢) : ISl & oFER HEs fowm @ fidfa
Yee o Tk 3Taen
farst 3w fah 9N sTeRmd S -
1. God T 3TEE (S § 2 a)
2. & Hfsharers sawar (2 § 7 o)
3. 7 wfehar st (7 9 11 av)
4. 3itoeies dfhar sy (11 9 15 =)
HftF JeIER 5T sraen- ud dfars sren §
aa: fahed (o) 9et 21
11.

stage of

&% IIIER

Which of the following is the most subjective
method of educational psychology?

= o | S-ar fren weifaeT @ daities

fwhig faftr §2

(a) Extrospection/a%?f?h

(b) Introspection/ IR

(c) Observation/f{refoT

(d) Experimentation/ ERIHETU
Ans. (b) : 33 R wTifage & gaite =fee
fafer 21
STASYIT AT STEHTIAETUT TafI— snefdeo & a1 a—
‘i gRT STUAT T St fopamstt @t fderor’
ST & SgER-FH e oo = & W oA
fordieor 0 1 SR ¥ T® UF TR H AT 8
o &m fordt wHftes fopan & TH 319 o # 3 g9
el @d F gl HR TE YER # Sffmasi &6
ferreqor, fergeraor 3R auiq # §1
sreAferr faft, famn wifes= & =Rt fafr &
e Tl @ S famhew # & W fafret (sfedyi
fafy o i fafn) foenr aAfesm & agfe
fefert & areta et 1
37 foHeT (h) T 21

12. Albert Bandura is associated with which of the

following?
Teard gugh fre § | ferad weafrera &7
(a) Behavioural Theory/sagRarar fag=
(b) Social Learning Theory
gt sferm fagr=
(c) Cognitive Development Theory
Ty fom 1 fgid
(d) Psychosexual Development
TR e
Ans. (b) : Tee agq 3 die & qmifees 1 fagid
I THA BT ST & SFER TON amreRefia e &
o Taq SR T FAT € 9 oS famedt § ¥
frdt s fawed @ U W@ STWAl ddAT ST
erEar § Bfear ¢ gmee s fagia & e
e 9ng TEveH e 9T F GHe UH 3Hd 3TEE
Teqd 63 S § 7 98 el (Model) % &9 # @1 &0
g RF F MR H WA 3@ Th|  TAER
FIRNEE Eia-grers ¥, S fomm s
S RS @ q wHiE fwe- wEe ¥ gate gl
3d: faehed (b) & 21

13. Plateau in learing curve is caused due to

e & wer for ® 9 foRw wrur s 272
(a) Motivation/ RO 3

(b) Maturation/IRYeFT TN

(c) Fatigue/9ehH G-I

(d) Interest/®f g1

Ans. (c) : 3R ¥ TSR g g ST 2|

TE o ATEN— TEd & R A TH W@ R
TSR 21 A IF A H T § o dRad i ulkar §
I A T el 21

JRAM & TSR & HNUH A YIE— JAENE, THH,
om 1 e, R s, S @ o R
& AN G § i HARGROT g, YRy §RT adn
& g i # 9eR T Sea i 2

I e (o) 9 B

14. Mirror Drawing Test is used to measue

Taur ot wdveror Rl WO ¥ weR BT 87
(a) Transfer of learning/3f&FTH =0T &
(b) Rate of learning/31ems &t Tfq H

(c) Creativity/gSTTHHAT i
(&) Interest/2RERT L
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Ans. (a) : T o wdrerur: siferm ST i A 7
T B € I T g U e qodied @
e v ded #f R®, T, e F e R
RTghIche &t @ Ao % forw A S @1 7
e g o ufRar # S # favamer o e
H IR gy T N IR & dE Tl &
I HH & [T Th JATNHS SUHOT & & § a1
T B el AR Y A, GerrcAshar qn ey &
Heiy qqur o gdieror @ 7 21 o fased (a) W 2

15.

Cloud Picture Test is used to measure which of
the following ?

FASS fueer wheror o o | former oo &
TR BT 27

(a) Personality/&ftha  (b) Intelligence/@@
(c) Aptiutude/3AEHd  (d) Interest/ (e

17. Which of the following is correct formula to

calculate 1.Q. ?

g T I T kT W G Frferiad § 9
i §?

EUSIEERE IR , CA.

HAES 3 M.A.

HHES 311 M.A

)y ——————= :;EXIOO/

@ A G 311 , M.A.
qrEdfeeh A X100 C.A.x100

(a)

“x100

CA. x100
M.A.

Ans. (b) : g & AU F fau gt (1.Q) =
FIHR FHIGIR WA A 63T 2T & g Sfaaned

Ans. (a) : FSE fUeer gl =fea & AT § 3w
Bl 21 T8 Afhed WO B TH @G fafy g1 wss
e wliery faforaw = 3 fean & sod &9 el W
STl WA Rt @ S E-gsl % Sed awal 9
forerd-Serd &1

o7 T T faftre O o 9 F1 ey F 2

forer - e qegadt fafq w21

o - god ey 2

= ol # i weTar a1 3 FRfaar T8 @ 5@ adeo
¥ gaRe & o @ 1@1 o @ % Fose e s
fe@mr 8 3N STEm aEd & fE @ SEdieT wih
O 0§ 5 98 6T wR 1 31 dfs, e,
el Faee R Tl § dey 78 wd §1 e
foheq (a) & 21

16.

What is the factor influencing physical
development in the following?

= ® ° v fosme 1 geifem e aret
T T §?

(a) Environment/aTdraol

(b) Heredity/msHA

(c) Sports and exercise/Te qdT STATH

(d) All of these/3 ™ & Tuft

Ans. (d) : f58 oo & TRIRS o & wwifad s
A FRG AUHH, MGV, WfEE oW, @d qd
o AR #) Ref, FERE e s §1 s
ey # @ ™ woft Fr IR e & g S
£ 31: faeed (d) W@ 81

Sfgetfsd 1 o & gF e -

_ FHE &
{m_—mxmo}
M.A

[I.Q.: C.A.'XIOO}

18. Who described 'Reflective Thinking' from the

following?/feremTerer o= =t =rent A W &
o = %2

(a) Ross/TH (b) Dewey/Stat

(c) Woodworth/ﬂ?ﬁmc (d) Drever/ gﬁr{

Ans. (b) : oS fa 1 ==l €6t 3 9 1 9% ged
3= FHR 1 fue 81 gHe ey Rl e &
T @ B 81 S 3 39 am W off "o faan f
‘T &t Sifewt ufshan 1 g & fore s fomfor, o
AT GUR THEM & 0T § e S SEvE 2

T & JTAR—Tr; aHres fhan &1 JHs e @
wifs w§, gz s SR 3 B B w § e
Rumrd g fie-fg oq &G € Sefs s = &t

et 3 wfawfed fovar 21 e fased (b) w6 21

19.  Which is not included in the levels of inductive

reasoning?

AT ek oh W | i ynitrer =t &7
(a) Experiment/ ST

(b) Observation/ 3Tacish

(¢) Generalization/ ST

(d) Imagination/hed-l
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Ans. (d) : JTHATHS 7 & &R § HeaT Ihe T8 21
ATTHATH deh— TH T § aAfth 319 F9al a1 31q
ST Gobford qeai o oMuR R fdr gme=r frem ar fagia
H1 feuu e 81 39H F% A W ¥ S e 8-
fordieror, olierr, m=ien| SRS - @ W wled
R T & U g I & 7 a8 IHh A F HRU A
G ek 39 Rl W wgEd @ 5 98 @ FRw
w81 39 YR 39 a4y & gw falw v @ g g
' IR I B E

aifean & FTER— A Y, WIS SR erEuE #i
fafer 21 9f% oo ® @ ™ G =R, AT T
¥ gwfed & S Hhoddl; SIS d o &R o
yiftrer & 21 31: faehed (d) @@ 2

20.

Failure in retention and recall of learner

content is—/HET Tt W W YR IR q-:
T A | HAE AT
(a) Memory/@zl'{'UT% (b) Forgetting/ﬁwﬂT%
(c) Retention/9T0TT & (d) Thinking/fH 8
Ans.(b):ﬁ@ﬁaﬂaﬁwaﬁigﬁzw?ﬂﬁﬁ
TS ET freRoT 2|
I * gEn—" ‘i & o &- fRd W v
F W o el gF T F TR FA AT B G gL
ot e & L § TG
e % ATEN— S 9 e diE o I 7, 9
TROT @ & S 2
aRuT— T H qE0 I 21 3w o 3- el g e
i ufeass § dfed W
fora— faa R & & 98 gAfas gfear @ S
fFft A & BNUT HARW A 2 SN ITH I qH
T Tl 21 ey geEER ok S gy e gl
3ra: fahed (b) & 21
21.

Five years old Mohan has mental age of eight.
What is his 1.Q.?

ufer ad & WET W AHAE A A 99 g,
wue gy T fae 2

(a) 160 (b) 150

(c) 140 (d) 135

Ans. (a) : 9 a9 % Higd F AHRTH 37T 8 a9 g, IHH

g 160 aft|
{gﬁ; dfsy (1Q.) =

FEAEN,
AHHE 3Mg = 8 a9
Frfes 3Mg = 5
gfg dfed (1.Q.) = 160
Iq : fohed (a) T 21

AHES 311
—mxloo

22.  Which L.Q. range is called trainable 1Q level of

mentally retarded children?

TH A RIA-TT Ao, TR Aeleg STeTehl ol

TIITEIUT T TS 5. T ShEeATaT &2

(a) 50— 69

(b) 70-79

(c) 3649

(d) 35 and below/35 T fa=
Ans.(c):ﬂﬂ%w—ﬁﬁaﬁ}faﬁﬁﬂﬁﬁﬁsﬁﬁ
A Bed R % S ®Y Y U S AT AR g
et el ST & |
7= gfg T F oy § off SAfes femd o
St E1 T ¥ o aras B AR s 9w
THR & FE F fG@E T GHA ¢ Wy v @ oF
ook § o ST @ e S wehen @ SN 3% S
TGN @I & STl el 2 |
sifogen aTvTaRTaT o fafiTsr Ot 30 TR B §—
fr (@fgaf s5—amsm 70), IR (3540 § AT
50-55), ®d (20-25 T T 35-40), IR (20-25
T F9), 70-79 — TGS aTeTH
Ae— TEER  WRdE aas @ ARmm A
M. TR & T fF6ed (a), (c), (d) T T Ty T
2 W] PNP 7 391 TR e (c) B AF 2|
23.

Rorschach ink blot test is used to measure
which of the following?

9Tt ¥ wAle 3 T YT T | 9 feRwen

o= ¥ feRa St 2

(a) Intelligence/@@ (b) Personality/afthe

(c) Interest/&f (d) Aptitude/3Tf¥erar
Ans. (b) : T¥ ¥ sclle 2= & T AfbA & 797 77
fopan smar 21
ATt Feh-oeT1e SL— U &l SE- gea qheq ol
3k AT oA ST ATl sAfthed TlET €1 g9en ety
fgesietve % forema AR fafsds g a9t 7 1921
# foper on1 39 wlewr § @ & ¥sdl % 10 Fe @
YA R ST 21 37wl § ¥ 5 fepd Ft €, 2w
3 A § 3R 3 I G % &) S v F A @
wlieor fpa S @, 3§ 3 & fifYed wHg % IR &
TG TH-TH B @ I 1 6 399 gur s &
3q o HIE & wl #  fREr % @ ) wlendf i
H S off sTfaet T@ €, I aan ¢ 3R T 36k
I iR for@er 81 39 YR 59 qde g ks
% grqul =Afhe 1 W19 fopam STl 21
wafh gfE, FF R fRmT F 799 I 39 R F
ST T fohA Sier @1 31: feehed (b) Wl 21
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24. Itis not the cause of forgetting

Tre ferefer et shmor T ®

(a) Desire to remember/ T F H T

(b) Under learning/ﬁ'@ﬁ T T

(c) Mental conflict/AHfi® 5=

(d) Defective methods of remembering

e % St fafeet

Ans. (a) : TR0 F F 737 A F oHROT T B
s g 3 T - R i o, R EE, e
% 21 2 e o E
gead % FER— S a1 Te WG ST qH 3 I Tl
T & W 21 i TR FRA P w1 [ B BRo
2 7 f fogfar &1 @ er: fohed (a) W& 2
25.

The science which deals with the method of
collecting, classifying, presenting, comparing
and interpreting numerical data is called—

og fae= W1 dETd Yew @ U &,
foranfie 19, wga &9, o wA 3T e
w1 faftr & v ¥, 98 weenn €

(a) Mathematics/7oTd

(b) Statistics/ iRt

(c) Geometry/SfHfd

(d) Probability/q=qreddn

Ans. (b) : 98 M W OIS YT H THT H,
faaisTa %, T B, o B AR A B B
fafer & weifery & “wiftert’ Feam § SEfs T, ST
JrTeAaT JEAER & T uRemr ¥ weftm 9@ €)1 e
faehed (b) W& 21

26.  Find the odd one out./fr=T % & 919 ¥ firer &2
(a) 16-P.F./16-91.U%.

(b) TAT./ATA

(c) Ravan's test/3a7 1 TieyoT

(d) Draw a man test/ST T A qherr

27.  The median of 7,8,9,10,11,12 is-
7,8,9,10,11,12 <HT LT &-
(@ 9 (b) 8
() 10 (d) 9.5
Ans. (d) : 7,8,9,10,11,12, I H&4i% 9.5 &1
gl 3ffhel I U § foRaT-
7,8,9,10,11,12
a7 [uw‘as: Nelg wﬂ
morm =20 g5
2 2

(9 JTAHER, 3 ™ W T4 10 919 WE W o 3,59
T 9 ¥ 10 & org & gnt)

9+10 19

- 3.58 g = —~=95
2 2

q: faeped (d) w8 21
Who has propounded the theory of insight ?
T A1 STag¥ & Raegie o1 wierure= feram
(a) Gestalt Psychologist/w EEICRIIEED
(b) Thorndike/=TeEH
(c) Hegarty/%"'lﬁcf
(d) Skinner/RFaR
Ans. (a) : G T ¥ & fagm #1 wfoued
TRTeEaN A 3 e
T a1 =IefE o fagia— g3 1 o= & faeld &
g s e §1 3% HANeR =Afh a1 ol
‘Ferg-fafhar aor T IR g ¥ T GEw G OgN
diad & gevgm goft e erg-urg o oRRefy % fafe
I # UREIRe Rl S WO s 8, Gequ
uRftafell & e F YA BT g AcIvER S
STER 19T Sfdfshar e 2
T & JJEN— T, a9 Rafq &1 T, M

28.

Ans. (¢) : 389 & qhem 9w &I 7 fawedi 9 i 21
&= 1 Ufterur— 9 gfE A & oTenfssss derui @
% A 8 fomd wlendf @ we el sfrew fammr
ST € 3R 3W Ru T e defeuss wawd § ¥ 39

3T Aehret 99 81”7
TETeeaTea # T AAIAAIeh— HEeR, HITH 3N
T § safs avews, Tmef qu few g3 fasl @
oy & wad &1 37 fased (a) T R

fohe S I B 8 S99 oTqul Wfa® T T & §H 16-||29.  According to McDougall, every instinct is
G, AT qu g1 € A9 TR #1 g6y Al F associated with—/HergTTeT ITER U&& T
oo ¥ 8 R A, 1 T A qdeor st A & Wgia | g ger §

yerdt fafret € @ 16-uw. wfrE W= & ESIEL) (a) Emotion/TaT (b) Cognition/ S
fafer 21 o fabed (c) T 21 (c)-Sensation/ HaE (&) Thinking/Feq=T
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Ans. (a) : HFTTA & ER TS I Y9 Ham ¥
Hafer gt 2|

T Wgai— 9 S99 Ygiat st 5 3R 9y S
w1 FH & fau IR FA &, g 9T Fa S 2
gead & FTER— “qa vofi, I F & for da
g3 @Ey 21

forferam dergmrer &1 g1 ygfEl &1 S A S @
TR 14 YHR 1 qevgEl @ g & 8 ek @ o
Far 6 5@ 7 ¥ UE "o § et g &)

ey g, AT
AT I

BRI e

frgfa Eall

Clisrol -
YRR HE

forsman C I NED
FrH-5gf BB
LR Cl STTEAT
ST STTHTHHA
ek T
IS0 I
REEIS] SARIBR rET
T EIGRICH

2] A

Safeh TRE, Hogdr agr fae #1 Hay @ waft ¥
21 o1 foehed (a) TR B
30.

Giving meaning to sensation on the basis of
past experience is called—

qd VT o IMUR W HagAT &l 3ed yge
HTAT HEATAT &

(a) Perception/dcH&I=ITT

(b) Sensation/FagT

(c) Motivation/ IRTIOT

(d) Imagination/shcdT

: 0@ 3T F YR W HaaTm & e wam
FEAT T FEAT 2 |

YANTA—TE0 Th HES Sha 81 I8 A
SEUH Alq AT F AW g ATl IAeS B
ahfels §9 &9 el AFfgs ghar &
STRTSI/ el BT e & |

TIE & ATAR— “F9a & TR Fag & A

PART-II/911-11
wrar-1 ; &=t

FrefeRaa # arer Rreror =it fafer = 3
(a) g fafey (b) & T fafy
(c) =ame fafy (d) Tmaa s fafer
Ans. (¢) : IS TH Hell § 9 aelh 3197 JI9 &
e 21 fen s ® g e s feetated
faferat &-
1. %R Y fafy
2. THad s fafr
3. i grafaty
4. srqeat fafy
5. 2@l 3R Fa|
Safer =re fafy aeE 78 @ 98 se wened §
fmor & fafer 21
32. TrefaRaa & miTgearede Sevd 3—
(a) WIEH 1 THEETEH HET
(b) ST ARl & A& # AR S
(c) SageH G
(d) a1 3R Tk # &y
Ans. (d) : RS BT F qeqd 9 R afRe &
o @ 3| R SR o # A vt 8, S Sy
frelt a%g, =fh ok & oy § foreft fafte w&@R &
SR i TERIq H &1 o o & foe 3fa s 2
3% Haild ook 1 fafte S w1 & fw Fer S g,
- FeH g, e e, Ha dEd, A s
1 Ui HA e 3 fpAni g oo # W 3R
e % s gl &1 gar =e 21
33. fe<dt wifew & sfoeer & wWeg @ ‘wrEq
TR ferever ot g e fora &2
(a) GEA FAR Fesif OEEEERRECET]
(c) Tt g amdt (d) o= amt
Ans. (b) : AET TR fAR 36 f=—am S
T g foran o o= Wit % sfRm & g 2
TR THYH URTAIRCH THES SHAF S S qEH &
foRiSi® & ®9 H g3 o411 T@ YAk ST A H foredt
T ff T e aR Y ik & wfaE @
FOHAEAR  aiipd B 1 SAE fhar wm @1 ggE
e St 7 dfewa @ = wfee @1 @uign afta
TR B8 R % S H TENE e § &t o

31.

F1 fzpar B TR Fed §17 34 Waﬁ'&vﬁuﬁ

3RS - A% T W8, SH B J SHH AW A W?ﬁa’aﬁvwﬁhﬁmaﬁ

S o &, 39 9 s W g o 3w s A A SO T G diod I A Fl-
T8 e A T o 8 39 e of e ® ¥ fermrant dfes &7

o IHH FE O o W 2| A W IR F I (a) i OISR
e s S T )z
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Ans. (a) : O el o o | dfes Hemg Ry W
21 dgwn At W N wEH A dEE & oS
TSI & <! s TH H T T g & 7ea § gan
oT| e % ARl § 39 ged & fagedr a@d &
forerdt 21 39 ToATd- TRt S 7 A, e, T
Tiges & b1, HEE 1 qeR, {0 vemEet o 2
el — Hd Haret § 3 iR SErE a9 9ed 21 g
Tug 183 A &1 g1 T TE N AW T I |
TIAI- ST |

TEE- T A §) T & TE F AW RO W 91
- EE, i (39 A e @ s ?)

35. &=t =T Ugem U B—
(a) 3R faftAes (b) 3<d AEvS
(¢) TR 3TTER (d) FRw=T= A

Ans. (b) : ‘I&d AUS’ I &= H Y@ 9 AT ST B |
TR THRE 30 T 1826 3. ¥ Holhdl I Th HRS
ot & 9 F IR g3 T & SMER W 30 T H
= TR fRew #aEn Smr 81 ARy SfEer &
TR 1845 §. H Tom Ry R e 7 et g
foran| eRvers ATl U A afe ff e s
1873 . § 9= sfwax st 7 el ¥ fopar oM ‘Sher
faferaTeTs’ Tk T @ s aws T e yae faan
e 21
frrefafaa reaur st eaTgdeh Ugeht Yo HEAT
36 ¥ 40 TR T WL faehed Faaht I LT
g qod T F AN § GEd eI aren R

Tecrdl, 3EYF 1 e W w9 & e 9 vsd 21
T % FU AN H TH SR d Ak R-A )
T Y IR e IR wdwS W21 99w
AT F fT F el @2 T H AR ITH FA uSH g,
A 9 ST H R A Y o qred H 8, W
IH W I F U5 w2, @ @m0 fAfvea &
SO ST 3HT IR g & AT § S ST 9 agd
TS 2 b e 5 9 1 i 39 2, 39
e 9, e ST ATl 39 §EIR § e Te-
¢ o gL & T 7 9 FHed H TIH 9% AA 8,
Fifs a1 F4 3= P 37 Fo9 U7 FHeA W e
B A F1 i A {7 st § =g or ren s R
F & GOR § safq Hedt @ R HER H 3% AW e ¥
form St @1 S AT e g oTae #ed W e
T, 3 HUR F @RS 8 § SR Ta A S g F £ |
36. e UTe R W ST ST aTelt gt shi-

i €7

(a) 9 & JF T A

(b) FOSR A, I}¥F & fAfy=d T & a@

HAghT 1 AT
(c) AT &l Mhar
()RR

Ans. (b) : ¥ UeH F ¥ a1 STo drel Syt @ BEeR
T, v F REd 7 81 791 d=a FHeh ;e

37. WOR & g2-a¢ AN X TR AY WEAT -
(a) TR FHI (b) 39 aRF FI
(c) TUHR FHi (d) 3T FeieT &

Ans. (d) : T9RX & TS oM 7 GH U U FA
& A R
38. ‘frelorar’ visg ® SudAt 7 e ot WEt ferehew
-
(@) PR+ &t + T (b) TR+ ot + 71
(c) PR+ 9td + 31 (d) X+ & + 31
Ans. (b) : ‘Faa e § T 3T T TR T T g9
Wémm(b)ﬁ{+aﬁ+mm9€rwé|
UeIE— Y] & AIE S SR A SR WG A S 8,
Y TIT Fed § | IAR- Gl + IE = oA
IUETH— IUET 3H VAW AT AHT H hed § S fH
I8 & e ST ST A9 o1 e T 2|
3qRU- ¥ + g = WeR, 39 + &9 = e
39. ‘RTEX’ Wl WIGETee AT §—
(a) HTERAA (b) ST
(c) HERYA (d) I
Ans. (d) : ‘FET I GEEES G HERA &1 G w=
q At a1 9% & o1, o, 9 AT DA F A LAl
2, U WEarEs G FEd 81
- A, gFEe, Yoo, 9N, e, SET el
40. ‘STUAT Haes et are’ o fog e v

=T E?
(a) T (b) Tt
(c) TdTH (d) Ffea

Ans. (b) : ST 7T foheq # 319 AaeE ke At &
fory sfem v @8- e
41, UHT W HIT-|T TH §7

(a) 37 (b) &%

(c) FHIRI (d) wgsiife
Ans. (d) : U5 § gl T 21 e 9O # 0@ U
FIN G E G FE ff 799 T IR FH I 99 A
31 37 U g 1 “Ueher o1 THY faEw @- Uk 3t
Fag ¥ T o4 91, WP 2 39w 37 HAA d1 e
7 SEsife gurg 21 55 § 9N UR YoM @ § aon e
FH W R A Ve I 2 ] e g 2
ST gUE A1 GURR H HS BN &1 HHURg # fawior-
foersy a1 ‘ITHT-3uWE’ 1 WE qEUS UH TR & HeA
The BT &
fFd 4 ©: 99" 99 S 2
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JTINTATE g SATar §—

(a) TR TE fawd & (b) TG H

(c) TIH =sH @l (d) 3TSIOT Hi

Ans. (a) : @R (3f) @ fawd (31) H EER
ST @ il s SHa T @ gl Wi F e @ e
T =it 1 fSh HROT 3B TUAT T @ =l A H ST
2 3 9 & oAl § gHifle g% AER & S gl
TE a7 F GO qgT <iem qul g I e HEmo
S5 FEcld ¢ Ud Y av o Ugel, drEq 991 uieet
Fut SR AT e TN Fea &1 e auiden §
IR TG =9 (&, 7, 7, ) FF 2 2

42.

43. U 3 ARE ARG Teh N TR
faerer s sfter & uE gesT @
3 Ufrwal § wgh W -
(a) IR @ (b) U5 ™
(c) WIS (d) FET
Ans. (¢) : @WWW@EWWI
fompa 92 < & v T W |
g dfth ¥ waee @ 21 Rl 9oes 9vg @ 2w @
I 9 % IRYTE AT Hl GANE T Fed & THH
Tl 9T 99 B 81 e §9 Y A @ A 99 §-
™ ATt e
1. Jm - T
2. = - gH
3. FEUT - NI
4. LU - e
5. IR - Bl
6. TATH - Ee)
7. CIa I STeET
8. IdT - faemg
9. Wb - wm/frefz

44. ‘W' fawtw fr=1 ¥ 9 frw @ne & @0 796

e 87

Eaia:;mq %E; + e = fomer (31 + 31 = M)
C
il + = + 3 =
Ans. (d) : i@ T foew § @ faufs fag ‘wRor FRE aa)fga_ﬁrw(g@ijl@
F 8| G A G & 9§ G@Ear ¥ fhar g Q'@R;T_aﬁa" "_és @ oy &
3t 3, 5% BT A dE § 1 T o e A i ||| DB S AR S A F A= T A WA
FE et forg A F WM WY S S A S I A I F T
- 3 T 8 2
e i TR~ TF + Th = T
FOT A% T T wWRI- At W e Faw T Y, T oA F iR
TrvE #, & forw T AT A A e T, 3, IR & S
IR (¥ B T 37 ) AR~ 39 + TH = 3|
e =, &, %, T, 8,2 Fu Efs- Ak € Y T T T F AR FE O =R
SRR §, 0 W AT AT WY IF B A H T B LS R
Sl g, o AT S + Th = T |

45. ‘3T TR e fRar’ — 39 e ® et

foreifena o & fre faram o1 SareRoT 22
ORICERERI (b) TIH fpam
(c) fem fopam (VR CEURERER

Ans. (d) : ST TR 95H A 39 g H T
YEhITcr 35T BT SATRNOT €1 ST el U fRAT S T
Fh e qE fRAT IO e 2, @t weel fRam @
e f3haT Ped &1 SiH- @, dieY, Hieh, Fel
TR | 5 & foRaTd S SRt U fhal &1 919 Tohe L
S 9 S, AR @M1, $XOSET oM a ud fRer &
T fpam e &1 @ el AT B WA WE T
foFft o= ¥ e & @ S Swonde R wed &1 -
YehdMI, Yehea I, TAMT 3|
46. HIF-TT AT TF &2

(a) TR & HIENfT 7 GHE F S e

(b) Wl § STl oY 37 3T

(c) Tt T =teT ST AEYTH 2|

(d) It | Fa %5 W 21
Ans. () : T I wgT FTAT AEYAF 2 A LS 2
I F IE T FAW: 3H THR -
o T H T-T U 3T I (3TY[S)

Tl § - T 3T o (I)
o TRYUM o HIFMA F G H A ;A (ITS)

TREH 1 HEE GO H S & (YE)
o P W BTA T W 21 (3NYS)

FeT W HIA B W 21 (TS)

47. Taemeff & ®a-dt afer &7
(a) s dfa (b) & Hfy
(c) TOT Hfer (d) =T fer

Ans. (b) : fremeff (Rem + aff) & & @ dfr 21 5w
TG A &6 3, 3, 3 WG A% g A &6 3, 3, 3 3M
ST &l e & e, € 3R % @ S &1 99— e
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48. ‘R’ KT UHITETE IS B—
(a) fafew (b) T
(c) o (d) 3 9 % T

Ans. (¢) : ‘FFT & yFFE Vs a9, 3Wud, faftq,
FAR, S, foey TR @1 O # e wd, g,
g9, dol, g, g I 7

fafRu- o FE vafgEEr 9 ? (T favd R @
FaTT 21)

49. ‘arer ferg’ T ovef -
(a) T T HLATI
(b) T=ET H ST
(c) AR TET HI STHT-3TAT Hieh ITH T T |
(d) dfer R urg FqE

Ans. (¢) : T TSl &I FT-3TAT Hlh IhT T
AT e fome sEe 21

50. forg o ey g forg v,
= forg =t =t farfar mm
3 Uil o Ugwh ST -
(a) TR 3R (b) fawmE TR
(c) 3T STABR (d) 3T 3HeHR

Ans. (b) : {5 o1 =7 g3 g =,

o w4 By T § e s 31 e
3T § FHROT 7 E g o F FT G aq=A G 2|
fo | & ge, e &9 F g, o arg & A o
FAT FAA T E | S AT AN AT & I T

Ans. (a) : g Fdl & Tell 99T St 81 3HH IFa
T SYERAGH, TN AW H TN, AIhIen TEe
F T q9T e F AR B U T 3R T
# yarll Ffeedi 9 o7 @y | foRaT) ugHEd (SmaEiEa)
T I IETELT & |

52. ‘wfgan ofier gfgen’ & AR @ §?
(a) W o (b) F0T et
(c) T TA (d) 3 B

Ans. (a) : Tfear iR Rear F TSR T O § 1 T8
ST SEHAT F T AT &1 FHHN TIH AT E- Bl
FUSd 99| A ¢ 6 IE s S ¥ e
& TITHR I9T G S &1
53. ‘Hr A9 Tk ' o TOHIRR HT AW g—
(a) TTAFIT g (b) SRR ek
(c) T T (d) FwER i
Ans. (a) : ‘G 39 TH I’ & TR aTAFST qE S
Fl T® T 9 ST B S o SUE- oA
FEEN 3N W= g

54. TEETH gEHEE w1 e SRt & fed wre
T g3r?
(a) 3T = (b) TIMTEHY T
(c) TH & (d) AT e

Ans. (a) : AT eEr™ # fAEA R & ol 2
R g3 % Had § ufig e § -

Yo Hice | ordt, o7t 7 & R

ST YA HEH g dod IR |

FRUT & Fd T HE A T, @r fawrf sTeHR
g 2|
o areiehR— U1 & SuRed 2 W ot ®ef
2 I g9 H fHEISiRE STeieh AT ST 2|
3R U forg #9 fEmdt
AT TARR— &l & N Hor § Fufq 7 &, a8
G TSR BT 21
SERTT- 37 ST 20 HEH, W A |

WA TS geH fed &8 2 Iw A
I AARN— S ST 3N STAE & e &9
forar sfafersr ama &fefa foam S @ e 91 1 S0l
T 91, 8T gUid STeFR I 2|
AR TS TeRfE T T A |

' TTRATET’ & IR 8—

(a) YT T (b) T T

(c) formp @ (d) g= 3™

Ans. (b) : WA % TIAHR ATHEE ST & | HichehrelT
Fe ¥ @l e & i e @ ufag @
‘smam off ¥ vEEE # W@ WAE s,
Tofar, wrafs ok 3 o geewm @GR
foreme’, ‘T 9z’ e 2

5S.

56. 'gE' T A0AH WY FAT &7
(a) 9= (b) gssi
(c) W (d) T+

Ans. (a) : G H T T G 1 TP W F I
g o fomr uRafda fpr < & = el amr F

IRE T P ok || fpar SMd &1 T FEed &1 99— F, 7, g e
51 Wi wel It §— 57. ‘uReter o faetd §—
(a) AEE! (b) widen (a) Forefiee (b) TEH
(o) TS ()= - ENE S
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Ans. (c) : “TREHT &1 fgew ‘sT€HT 2
IR & ord g fAfEd R S q9r | & 3t
G ffy=a = g

58. 'gEX’ 9IsE W U ¥
(a) WY (b) 31%a
(c) &Y (d) =T

Ans. (¢) : ‘IH VK F 9AE TEY 7, 36 I WA
= W, Tegl, 99, IIN, ThIH, JIREA=T 2l
T 3T e & wataaret ves frefefad §-

7Y - FIRE, aed, R, TERE, TR |

YT - I, &, AeH, =T, vE, T i

ST — A, S=Rfed, v, gf, &8 snf

59. ‘wdt srariq Sl gRT R AT (@)’ — e
& T Tk v1eg wreTE
(a) 3TfRrsifass (b) aferfas
(c) 3mferfess (d) SR

Ans. (a) : ‘St 319fq SfEl g7 @9 AT (@)’ aE &
for e v ‘enferifoe 21
o 2T 3FUAT YHT BN B ATt gE- 3MfRfa
o @A VR F ZW & A 3@ — IefEH
o W F¥ N WA & AT o & — Seuw |
60. ‘e st o fagt fagd’ ar oref ¥
(a) oS &M fRUR & 5T ST Fehdl |
(b) I Siftgw § S|
(c) 3T =Afh &t oIl
(d) Frelt 9t g forelt g a1 T
Ans. (a) : ‘T F 90 fagt frgt &1 o1 8- 9@ @w
fesuent & fohdl ST Wehd | T foreheq 3rETH €

PART-II/9MT-111
LANGUAGE-I : ENGLISH

Bees are kept in
(a) A nursery

61.
(b) A pantry

(c) An apiary (d) An aquarium
Ans. (¢) : ‘TYAfFEA’ & WA 9 T™WH & 'Apiary'
aierd &1 ST fF option (c) & @ e 21 9w G faew
T TN 2-
Pantry — @i HEr
Nursery — ﬁ's’ Gre & W H
Aquarium — TRferdl ot W H e
62.

The idiom 'green-eyed monster' means
(a) To be sick (b) To be jealous

(e To bo AL (D-To bo bl:nd

Ans. (b) : f&a T Idiom "Green-eyed monster" <hl a7
o] AR B @ S fabew (b) ® fm w71 e
& fawed (b) 'To be jealous' B

63.

Select the sentence in which the article has been
wrongly used.

(a) Twelve inches make a foot.

(b) Heisa M.A.

(c) A pupil should obey his teacher.

(d) He is a European.

Ans. (b) : & T3 fowedi | fa@eq (b) H T 'Article’
T T g ¢ HfH 39 a9 § MLA. H T Vowel
sound Pronounce {1 ST & @1 Vowel sound & 1
Article 'An' &1 Y81 81T 1 37 H&I fobeq (b) B

64.

Pick the correct question tag from the options.

People shouldn't drink and drive,

(a) should not they? (b) should they?

(c) isn't it? (d) shall they?

Ans. (b) : & T sentence & R WM # faeq (b)
"should they?" 1 SENT T iR 3TN sentence
Tgcdl 41T 'positive’ g SHH Question Tag Negative
I, 3R TN AT positive ¥ aT 21

- People shouldn't drink and drive, should they?

I e e (b) 21 9 AT fobe srefe T 2

65.

Point out the part has an error in the sentence.
You are learning English/for the last one

A B

year/but you show/no improvement at all.
C D

(a) B (b) A

(© C (d D

Ans. (b) : &3 T sentence F YgA N H Tense
TAd &1 i T Present continuous ¥ AT 2
Present perfect continuous tense ¥ 78 I 2 2
#1 past ¥ Y€ 1 8 SN FOA § S ¢ W & 39 39
F A § TS TR R (S9-U A ¥ imen
g, 2018 & TIR) ST B 21 S 39 A |
'For the last one year' f&a1 a1 2 399 I8 T o1 2 5
# past H YE g A1 3R onft off W% g1 oW WA
ferpeT (b) A 21

You have been learning English for the last one year but
you show no improvement at all.

Read the following passage and answer the
questions from 66 to 70 based on it.

Work expands so as to fill the time available for its
completion. The general recognition of this fact is shown
in the proverbial phrase, 'It is the busiest man who has
time to spare. 'Thus, an elderly lady at leisure can spend

A T

1 il 1 . 4 1 1 - A 1
UIT CINIIT Udy  WIIUIIE d PUSItAl U U IITT THCUT. AL TTOUT
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will be spent in finding the postcard, another hunting for
spectacles, half an hour to search for the address, an hour
and a quarter in composition and twenty minutes in
deciding whether or not to take an umbrella when going
to the pillar box to the street. The total effort that would
occupy a busy man for three minutes, all told, may it this
fashion leave another person completely exhausted after
a day of doubt, anxiety and toil.
66. What is the total time spent by the elderly lady

in writing a postcard?

(a) A full day

(b) Three minutes

(c) Four hours and five minutes

(d) Half an hour

Ans. (a) : f& T passage % TIHR I AR B TH
postcardmﬁﬁ@@mmaﬁﬁlﬁﬁﬁw
(a) & &= T B 1 9 A foehen e 8 2

67.

What happens when the time to be spent on
some work increases?

(a) The work is done leisurely

(b) The work is done smoothly

(¢) The work consumes all the time

(d) The work needs additional time

70. Point out the most appropriate explanation of

the sentence.

'Work expands so as to fill the time available

for its completion.'

(a) Whatever time is available for a given amount
of work, all of it will be used.

(b) The more work there is to be done, the more
the time needed.

(c) If you have more time, you can do more
work.

(d) If you have some important work to do, you
should always have some additional time.

Ans. (a) : f&& T sentence "Work expands so ..........

most appropriate explanation fheq (a) # fam T 21

31d: whatever time is available (frst Fd B FA

F e st off T o mr § 9% 9 e I e

AR) o7 T fFheq (a) 21

71.

Choose the correct sentence.

(a) The committee was one on this point.

(b) The committee were one on this point.
(c) The committee was divided on this point.
(d) The committee have one on this point.

Ans. (c¢) : What happens when the time to be spent on
some work increases? (3T Bl @ 5 et hrd WX fea

T GHT 9 A7) SR el I} faed (o) H famm
g1 3 -
The work consume all the time.

FE 9T g9 A A
68.

What does the expression 'pillar box' stand
for?

(a) A box in the pillar

(b) A box attached to the pillar

(c) Box office

(d) A pillar-type post box

Ans. (d) : 753 T w2 'Pillar Box' &1 &l =R foeheq
(d) ® g1 2A pillar-type post box' 31d: fahed (d)
T 71 9 A fapew enfe 7 7

69.

Who is the person likely to take more time to
do work?
(a) An elderly person

Ans. (a) : &3 73 fashedt #, f4eq (a) T sentence
Fifeh committee T collective noun ? 3R 5" g fodl
fog W eTot Wemfd S €1 A 96t singular verb (was)
Wmﬁmééﬁﬂmﬁ%membersaﬂww—
3T Bt @ @ Plural verb (were) bl T S Bl
A TE fahed (a) @

The committee was one on this point.

72.

Which of the following is an example of Simile?
(a) Lifeis a dream

(b) I wandered lonely as a cloud

(c) Anxiety is sitting on her face

(d) A lie has no legs

Ans. (b) : &8 T3 fapedi # fahed (b) W fawed 2 1
wondered lonely as a cloud ' simili T 3<ELT 21

Simile Ts phrase AT word gar & fored fed aE il
W@%‘T{ﬂ@aﬁ\ﬂ?ﬁél gﬂﬁlike,asﬁmﬁm
21 o9& fased (b) 21

(b) A busy man 73. Change the following sentence into Active
(c) A man of leisure Voice.
(d) An exhausted person The visitors were shown the new-born by the
Ans. (¢) : According to the last sentence of the passage, woman."
"The total................. anxiety and toil", we can say that (a) The woman has shown the new-born to the
the person likely to take more time to do work is a man visitors.
of leisure. (Passage % 39 999 U, g9 BT UHd ¢ 1 (b) The new-born was shown to the visitors by
579 =afth & &™ T A GHY oA H G9ET €, the woman.
T8 PLHT Al st E1) (¢) The woman showed the visitors the new-born.
Hence_the correct answer is option (c) (d) The woman might have shown the new-born.
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Ans. (¢) : f&@ Ta Passive voice sentence I Active
voice § age & fem-

P.V : Obj + were/was + verb III + by + sub

A.V. : sub + VII™ + obj

3ra: f&& T Passive voice & T active voice fahed (c)
F 2

The woman showed the visitors the new-born.

74.

Select the antonym for the word.

'Adverse'

(a) Friendly (b) Hostile

(c) Inimical (d) Unwilling

Ans. (a) : & T word &1 "Adverse" &1 374 ‘fowg =
MEGIE g @ fForehr antonym fd®ed (a) Friendly il
3 A faseT 39 Synonyms 21

Hostile and Inimical — @"ﬁﬁ, ferreft

Unwilling — =g

31d: Adverse ST antonym friendly g

Hence option (a) is correct.

75.  Fill in the blank with correct word to complete
the proverb.
"Blood is than water."
(a) Thicker (b) Thinner
(c) Purer (d) Precious

Ans. (a) : f&31 T sentence TH Famous Proverb 21
'Blood is thicker than water - G ikt ST @W %
TH% faHed (a) W& I 21 AW AT ey anfie 8 2

Read the given passage and answer the questions that
follow (Q.No. 76 to 80) by selecting the most
appropriate option.

Helicopters are very different from airplanes. They
can do three things that airplanes cannot do. First, when
airplanes move upward, they must also move forward,
but helicopters can move straight up without moving
ahead. Second, helicopters can fly backward, which
airplanes cannot do. Third, helicopters can use their
rotors to hover in the air, which is impossible for planes.
Helicopters can perform actions that airplanes cannot,
they are used for different tasks. Since helicopters can
take off without moving forward, they do not need a
runway for take off. They are used in congested areas
where there is no room for airplanes or in isolated areas,
which do not have airports. Because they can hover, they
are used on fire fighting missions to drop water on fires.
They are used in logging operations to lift trees out of
forests. Helicopters are used as air ambulances to airlift
patients out of situations, which are difficult to reach, by
conventional ambulances. The police use helicopters to
follow suspects on the ground or to search for cars on the
ground. Of course, helicopters have military uses because of

76. The word 'congested' in the passage means
(a) The place has no place

(b) The place is roomy

(¢) The place can be accessed by police vans

(d) The place has so much of smoke due to fire
Ans. (a) : fear Passage L ‘congested' word bl a7
?@ﬁ'ﬁ 2T @ foees fou faseq (a) "The place has no
place" T =A@ 8| 31 W& SR fohed (a) 21
77.

A helicopter can hover while an aeroplane
cannot, according to the passage. 'Hover' in the
passage means

(a) Move straight up in the air

(b) Stay at one place in the air

(c) Go backward in the air

(d) Fly sideways

Ans. (b) : &3 T passage H "Hover" &1 21 ‘TH &
R W =TGR AT A1 G el 8 S {6 fased (b)
¥ faar a7

37 fahed (b) 98 SW 2|

78.

Point out the grammatical category of the word
'‘perform' in the passage.

(a) Verb (b) Noun

(c) Adverb (d) Helping verb

Ans. (a) : fea ™ Passage ® word 'perform' & ardf
‘i @ BT 8 S % U verb (fFaM) 21 31
Verb-f5am a8 w2 @ 9% wea™ ¥ subject & HH,
ARBR, T A EE H Y B 21 S Ve
'perform' T forelt fopam =1 e &1 @I R

3T TE e (a) B T A fahed ST A 2
79.

Why is a helicopter used as an ambulance?

(a) It crosses all difficulties of traffic

(b) Its movement can be maneuvered easily

(c) It reaches the inaccessible places easily

(d) It can fire fight

Ans. (¢) : e Passage * AN - TABIET T T
Ty 1 T T8 Sl W e & fau fRar S og
el STHHT ¥ Uger e ST Ghdll o U® M A FH
T S faswed () # 21

It reaches the inaccessible places easily.

80.

Point out the grammatical category of the
underlined word 'very' in the above passage.
(a) Adjective (b) Adverb

(c) Noun (d) Verb

Ans. (b) : fa ™ Passage % ugell dfed H 'very' Th
Adverb 2 Sifeh Adjective (different) 1 fareiar ser T
21 'Helicopters are very different from airplanes.'
Adverb TH UTHT & 8 ST a verb, an adjective or
another adverb ! modify T 21

37 T 5T (b) 81 99 9 by anfe 7 2

———their-design-and-eapabiities:
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81. Give one word substitution for:
The scientific study of insects.
(a) Entomology (b) Criminology

(¢c) Mycology (d) Meterology

Ans. (a) : 'The scientific study of insects' FA F
3T HH A a9 & faT wged e "Entomology”
1 ST foA ST 21 o7 ey (a) TE W B 1 W A
forbed 39 WK §-

Criminology — 394 fagm=

Mycology — e fezi

Meterology — EiEERERIC)

S 3TFF S e 2

82. Point out the correct direct speech of the
following:
I asked why he was looking through the
keyhole.

(a) 'Do not look through the keyhole' I said.

(b) 'Are you looking through the keyhole?' I said.

(¢) 'Why are you looking through the keyhole?' 1
said.

(d) "You are looking through the keyhole?' I said.
Ans. (c) : f&&1 A1 Sentence Indirect sentence 2 3
IUIH Direct sentence faed (c) # faam mam 2-
"Why are you looking through the keyhole?' I said.
Direct &I Indirect § s&e & f2m-
® Reporting verb % said 1 asked § FaAd &1

e Comma 3 Inverted comma I BT Question
word Why bl T BT

® Reported speech ¥ first person £ pronouns £
Reporting verb % subject Ed 3TTHR dT second person Ed
pronouns H object £ 3TTER change Fd &1 37 third
person a?pronouns H &g change &t T 2

® Reported speech £ present continuous tense Bl past

continuous ¥ AT &1

e Indirect SHId HWI reported speech # Inversion H
AT T e B

I el faehed (c) Bl

83.

Put the verbs in brackets into the correct

present tense.

My daughter never (write) to me so I never

(know) what she (do).

(a) My daughter never write to me so I never
knew what she does.

(b) My daughter never wrote to me so I never
knew what she do.

Ans. (¢) : & T sentence FH appropriate answer
option (c) # f&&m 2 21

My daughter never writes to me so I never know what
she is doing.

I T fabed (o) 31 9 i faeed anfe @ 21
84.

Pick out the correct synonym of the word

'Cantankerous’
(a) Quarrelsome (b) Rash
(c) Noisy (d) Disrespectful

Ans. () : & T 32 "Cantankerous" &1 379 EREI
g 2 fS  correct synonym fawed (a) #
'Quarrelsome' f&31 T 1 99 i faheq 39 YN 2-
Rash — fcefs

Noisy — m

Disrespectful — faxguf

I TE 45T (a) B

85.

Pick out the sentence that has a demonstrative

adjective in it.

(a) This kind of question is often asked in
examinations.

(b) It is a twenty-kilometeres walk.

(c) Each of them received ten rupees.

(d) His written statement differs from his oral
one.

Ans. (a) : Demonstrative adjective—S/¥ Adjective &I
T Al a1 asged H gfea, 3 e we %
foTT fopan S @ 3§ Hehaaras faRIo0T 8d @ SE-This,
Those, These, That TG 3Td: Demonstrative
adjective fde@ (a) ¥ 'This kind of question
T 81 o IR (a) TE W 21 W A e sW
T 2
86.

"To chew the cud' correctly means

(a) To die on duty

(b) Contrive against someone

(¢) To meditate

(d) To inculcate virtues

Ans. (¢) : & ¥ Idiom "To chew to cud" &1 3 F
T e BT BT @ St fa6ed (c) H 'To meditate’
feam o 31 3 W e (o) 31 W T fhey srefise
T 2
87.

Complete the following sentence with most
appropriate choice.

\J .
(c) My daughter never writes to me so I never H.e V'vas' very much ashamed his
know what she is doing. mischief.
(d) My daughter never writes to me so I never (a) of (b) for
kmew witatshedoes: te—with tH—over
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Ans. (a) : & T sentence % RF WA W 'of HT AT
2T i ST 'Ashamed’ & &€ 'Action Noun' 37T &
@ 'Ashamed’ & 9 preposition 'of T AT B B
I faweq (a) WE R
88. Complete the following
appropriate choice.

he stood first, he would have gone to

sentence  with

America.'
(a) Had (b) If
(c) Have (d) Anyways

Ans. (a) : & T sentence & & WM W 'Had' &
T BN SRAif sentence Tah conditional sentence él
Conditional sentence—a8 3@ S 9, a4 R
9fes &I real 3 unreal situation/desire/condition I
I T 2

THeR! I o fEW—=&T If clause § 'Had' & @rg v
&1 JANT BT 21 3 W fAhe (a) ®

"Had he stood first, he would have gone to America"

“3TR 9% Yge WeT B @ STRe ug T gar’

89. Fill in the blank.
'Of the sword and pen the is more
powerful.'
(a) later (b) last one

(c) latter (d) last
Ans. (¢) : f&a T sentence % R M ¥ 'Latter’ &l
TR BT Hifeh & AR A a%] § ¥ AT b (AT latter
WA BT & S e (c) # famn wer @1 em:
fashed (c) T8l W g
Of the sword and pen the latter more powerful.

TR 3 & § FHoH sare] Yfmel 2iar 21
90.

Which prefix can be used with the following

Ans. (b) : TRFLEHY F T GO §| TEHLEHL b
TR TEH §1 T8 TH T T 7, TEH 10 b 2
TegheRy § & SHR F e &1 guiq fHar w2
- Tl (Fele) IR T FEHA- AR (ST
T 81 TehlERy F1 A9 =eed ST B H
TTH B

THTEEH- AN & dash feree 81 R &
A A (Fife, TN 21 B9 fage asw &
A WA §1 59 A § A H 39 2
UTATTRIAATA- AT difeed g o
T AR 21 I8 g g &1 A 81 fH derery
# gerpa qen fafeen & won sfEfE & 9 sk 3%
fereme a1 avia 21

UTACTHTIEH-AAqAEd Faqfd # 10 3TgI B T
79 21 fgH Hrerdt qn mea F Jaeber 1 vl 2

62. TIT-TAT % HIH T ST YT el &
(a) T | (b) TEw |
(c) T # (d) gHafaq

Ans. (b) : -G & 19 1 quid T F 9 S
21 el § TE & 139 T § TO-TGA & G H
TRl au fher 21 wEem s @ w1 ggd
FA 19 T 21 [ FUE F e died g &
THRA g9 W, i 1 e € R ufem @t & afee
FT &
TygHeEy ity T T T |
(T 13/57)
FEE- FEES TUEE F A 1 BEET F T
forearedt auia et 21
goaRay - gluRaq aos A F 21 TR e
79 21 39 g9 % e Hiet B a2

words? .
behave, guide, use - T R A § T R B A
(a) dis (b) in TS 1 A0 2 ‘ .
(c) mis (d) re 63. ‘vWaftdewmEd U uUwa:' W vatese:’
Ans. (¢) : @ ™ 'behave, guide, use' F T correct TerranT fergtoT & 2
prefix 'Mis' T ST appropriate @7 S % fasbed (c) & (a) =H 9IS A (b) eI H
2 9 @i faepey enfre T 21 (c) rga: (d) TE &
_ _ Ans. (¢) : ‘VEfseETEs U8 yiga:’ # ‘vafess:’ qigs:
PART-III/9TT-111 o P &1 e R 3 B R e A
W—I:W 77 HR T @ Wit # A @ o e &t -
fe1 39 GUR rei-aigiies @t &1 19 e e 2|
61 ‘gm'uEE 64. TR FCTZN B &
(a)gmrram{ﬁ. (a) 39S JUITRl & gAGRa
(b) FHFAH (b) e avteel @ R
(c) ATt (c) TF T THU HIH qUiEHg H TG
(d) IreTdmreEy g (d)y == moft gy % auiomg oY arghy
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Ans. (d) : ‘T 9ot YER F guigEl # sy § aHE
TR &I 2|
T IR hl TGTIT—

“mregdf germTataT: wReETSSEE: |

AT daTgaE e fafrmean’’ (@meaegd)
Tl off W oo WIE 1 AR A R Al s1efar
29 3 Rafy &, S & srer-sren 31 B 81 HE-HEl
R AR &4 et S R W B ¢ | FE-al W A
e 80 €1 H8 W uh el o1 ww s g 2
g U2 W BN o & erd-erem-ererm B us f
fordes gam @ o o1d & Mgy 89 W off IHF TcHR
21T 8| FA-AEE | A A T F A |
- 7 WM ¥ e ¥ oAfe it ol 8, 3§ WeR

oY Hfa & v 4 gt H9 S g

TIE YIS €
(a) ST &
(b) T3t ol H
(c) S U &
(d) =T &
Ans. (a) : TIGY T I FOZ1 T T TFR H
BT 8- (1) SR 3N (2) TRl 3MF=R JIeT e THR
% B & (1) WL (2) T (3) Mg (4) forga iR
(5) "l TRl AUl F OTYE, I qUI B IEEE,
oo Uil &1 $9afagd, Wl & fgd qor g er avf @
Tgd MR TIeT &iell 2 |
66. TENfAREd USl W i W’ ek ¢ ?

(a) famog (b) 3R

(c) T (d) 3 =
Ans. (d) : 30F w& # T qofy frber @ @1 faw, &
T TR T A TR R §TE 81 G- deesfieed
W Seiq 5@ €1 S1gal g el fhamaEs v
FRamsr s i ¥ F AT @R, AW T
‘F R T I wHH G T TR I A 2
SH-gl T, faw e, TR o g
67. T UE ‘wuaedTE:’ @ faurg g

(a) TY 9t T2 G- |

(b) Y&t = A1t 7

(C)an?ﬁﬂmfm:ml

(d) ®uadt 9rf: T g |
Ans. (a) : 99K U8 ‘UGN’ #1 faEE EUadr 9w
T | E| FgAfe 9N % g 9% & 8-
(1) TR Sgsfife (2) =afemr agsife | o wm
g F A A gt v H U & e (fufe) @,
7o 3 WA 2, 98 SHHIRERT SEdi THE Bl & |

65.

SY-diarER: = fiag TR T T: |

59 oo o5 & IH a1 oot v ¥ Fad & & TR
T @1, O WEl A gt fawfe § @ 39 st
TgHE T Fed &1 G- ISEEt:, T, asew:
| 37: “EUARHE:” AT S 1 SERT 7

68. T UG, TE THN, YW Y&, TEIo ol €7 §

(a) =AfT (b) 3=

(c) B (d) =
Ans. (a) : &1 91q, A< dRR, AW T, dgaod bl §Y
‘= 21

T (AR ST T TrETet
TehaoT fgae= EREE]

LUt B & =t
T YEY B g9 g
I GEN g\ g T
69. 3187 + et ® T |l Brelt &7

(a) 7T W (b) < T

(c) s qf= (d) W& g2

Ans. (¢) : ‘& + S F gy Gl A 2
alftieh- ‘STTEfeaTIHeE I7Aid- 3 WKk § et
= W (TS H) B A ST H W AN S BT A
ERIRERETE Ui R el | e
Y- o+ S

I+ I + F e

aft
apedifeeT
T H U P FAfeUR w9 fag Fw 2
70. @A WX g AE @ ?
(a) & (b) TE3
(c) wai q 3t (d) T & FE T
Ans. (¢) : ‘T 3 T 3 I =X g T& o &1 R @4
THR & B e-(1) g (2) & (3) T RFFH =R
A § Teh WE 1G9 o, 9 g AN & AET H G
o, o8 & q91 A9 W B 9HE o, 98 @ Fec 8|
@ (37 F ST, 3, 3 W & Al 4 B § S G &
4 9 7 T E qO TN T S F g 4 A A
21 3% fafm @R off @ed €1 3 e (o) T 2
71. ‘oA’ WeId K1 GAT
(a) Fer
(o)

() f

) &
7
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Ans. (a) : ‘F J99 & G910 T @1

Faaq 8- a9 3R aqaq g7 aH St &1 e
REIR S

fe&-' arets=aafe f&'- foret off vise & aifeqw @ it afg
3G o€ HIE e @ al a8 ff T g wer s 2
T35 H & b1 SR ol FAY § I R 2

g TEEE! Ad- g vy feeE, T g ffEe,
T g TehaE | &8 SRR 3R IS e Siferg
Te Y AL G A 2

for- vroremEflg - 7§99 ¥ Y B9 3ER 89 SR
@ fr 93 a8 §ia v W Siewd| FU-d, Hi,

qi, TE 3

72. ‘T SRR T YENT G §
(a) HHT A, (b) 3T Afesaq
(c) 3rTIaT 9d (d) T Afaaq

Ans. (d) : ‘FE’ THER H TAN ‘I dfawd wA H§
A Bl G TER H AN G A qo o
TER H AN FAGET b’ H @ 81 sEe
ferfeifiad SR & THEM ST TebeT 2-

(1) TAAFHA-TABR (2) STF-ARAdR (3) fafdr-
ISR (4) SFaTT- TSAHR (5) T d-fiaeasr
(6) HAMIYI-JEThR (7) e 9fesd- qeahl (8)
THFHIE-GeaaR (9) i (10) frafiaf- Jeesr |

73, THART @RS ?
(a) g (b) &
(c) ® (d 9

Ans. (d) : T Wity & sER W &1, 3, 3, ®, G, T,
3, T AR 37 21 SEfs e | FaffT F avf @ T g
o5 § S 6 3 (3, T,  3IR 9) & St ST B

74.  ‘TIRUTOT: ' H I WU &7
(a) &AM (b) LR
(c) f51 @ 5%

Ans. (a) : THADT H I TOE 21 T9 qUE | o
T VR frereRt Rt o1 vk & foeioor wEy Twd § A
gt QU e €1 JU-Thain-Tsh Aot A G-
oy, ==mE-a= TR 7= w () aw
TSI+~ TS Hifed: g9 Hl: T G: |

75. ‘FeTa:’ UL U W hA-WT BT E ?
(a) Yo qey feae (b) 5o I SEAET
(c) WEAW &Y UhaeH  (d) HeAH e fgaed

76. Y &g, WIE RN, IUH T&Y, Teheroi ©F &
(a) A (b) Y
(c) @ (d) 9T
Ans. (¢) : Y 9T, A AHR, Iq9 TN, THaad & &9
‘af 21
T (TTHT) SIS
e TThR (TATR)

Thaod  fgaem  sgaed
120t e 21 S 1 I o 1 AN < o

AW qEY AN EERICY e
Eat i i S EIEH EEIE
77. Trenfdat & ferw fafer & g waien o

AT et & 2

(a) #e3-9%9 Rl R0 (b) TEHI G

(c) el o aTERT g (d) fRent 6 g/
Ans. (a) : Renfia § ‘ger-gva ol @ fafy g
gaiferss & S @t 21
9 9 WHI-T18 &1 T9% T4 oy 9 & O 7]
v ¢ 5 oEl # & ey e sttt
Al % W &1 3 SR F A § W g ST
foreror § werass T 1 WA YR wEn § fRAr S @
21 @ dgifws, difgs 9 ARE UG @GR
IUHAT F WA G 31k T, HARSe dur SuAnt
ST ST Hebel 2|
§o7-3%9 TE- 9 WA § 9 gw ofEl ¥ dmd € SR
FE T A E1 T whead A ged qur g st
Hishd BT W I § | SeF-5Yd WHH el 8 |

e : f=fofaa e @ eEYdE Tewt wee
HEAT 78 | 80 Teh T Wl foehed FAHT 3T LT

WYY SUHOET WU I FHeAd | TR
AFEES: Hifteh: FO: W | WIhREo HY
AT 9iaA FEd | AR g9 W S SUSR HReAm: af
WY rees fd faer@af=r | Weuese 3T feant
g VeI | SH-heATTg GeqEs WA, a, $Hen 9
ISR YA | TSN HEOd: T T st |

THYEY  WUSRE W favesun gl
TR § 9 g wafd 3 @ foge Wt feqeney o |
3HHI ITEOMAMN T aeiwt | Hefd: gefifed, Wwed a1 =
T ST SRR GUERAT gvAd| T WdHd §el

Ans. (a) : ‘T’ G G FoH TRV AT HET | || ggf) ge: WRANE Gl ME: @EH W u
T () TEHUET T TR - HiTeahTet T RITHRET FU 6 IUNR: | WUERHE
THITA  fgeem w@gaed 3T, 3T Q¥ 9 Hedm Ay W |
TR gET Sl TEAT: seAfa 78.  IEHTUT TEORE: Helf<i—
e ey sy ESRE Y (a) @ + fiprea: (b) BT
STH UHY SR SR SRATE: ()T (D) I-ET:
UPTET Class (6 to 8) Social Studies 23 =&, 2022 162 YCT

www.SarkariTeachers.com



https://t.me/PdFsHub2020

Ans. () : TCTEUT WU URSiAed:’ wafwl st
Teqest gl e St % fu & & 81w # wgw
‘EfT UE H 9 1 A AHR FAH YR agaad H T
g3 &, g &9 e FbR o 8-

82. ‘T%: fird ureAfa’ aTe ST ATeA UREdA BT
(a) TeOT ot wgEd (b) TRUT TS wigEd
(c) e R WA (d) TR R weafd

Ans. (¢) : T&: =t ugaf’ a1 are aRiady e

9 (FHT) T AR (TAFTT hTeT) forsT: T @
T e W || g3 et weer ame ot & e
pPRRR ) afd EELE af< TR T
HeTH gy qafy Y Y (a) 3T (b) =%
I IEY ety CEICE JaT: (c) &H (d) T
79. ‘W wg W W ¥ Ans. (a) : ‘ATEaE gt greeTa’ df # S
(a) 35 (b) = SR FH ¢ |
(c) T (d) efg SUAT AARR—3TA Tk 1 37 T 8, qA (W9
Ans. (a) : ‘TeT g # gy ¥ 2 9fg o @ @ WWWWWW\L@WW@@%W
SRR o S T ghee B T ¥ I I @ Te W ST SFEHR &I 2

ghg¥fer- s a1 o F AR A YA A A F Y A
qT 37 1 37 % @1e o AT 3 I A A w1 S B

@}ﬁ—aﬁ+@: :aﬁas:
TR + TdH :W'aﬂ'{
TS + Tyedy = Teivadq
S + 3 =~‘rWﬁ‘€T:
TUSHA + AETH = qUgalaTq

80. TIUhRET WEwe favrgmuur afttag
(a) TS (b) AfpeTE
(c) =AY (d) TiETREiY

Ans.(a):W%ﬁiWﬁ'ﬂTaﬁm—WW
wee fovesy @ wvere # aftfq 81 erfwrer dehd ww
FUS a8, S e 31 S Rl & el @ 9w
gftafer fpd g@ 81 uderer & aeed, fhedt o o & forg

fore T T §

81. ‘oI Toruma M <atfer’ aht A=A UREd= g
(a) TSN fovor o S (b) T A W S
(c) TSN favor Tt fad (d) T faw T fEa

Ans. (d) : TN oo T @ # g uRada T
fagrg M @@’ gm oaeg d9 YR % 'd §- (1)
Fgared (2) HHATA (3) WEATHA |

(1) Sdarea-sgared § @4 9e7 e 7, 6 ol &
IR Fodl & Faiq frar 1 gew, @=q, forg, A &
Ty, I, fofg & SFER B SI9-WHe: 7 w3f
) FHaTA-FHA § FH FH TEEA B 8, FHAA
& Al # e § wemn faufts, i & g e 1 e
& Y IR § = B

(3) rearsa-fg e ard ae § @ g |
T W ei- fhar @ SeEar @i @ g% weere
FEA 2| weared ¥ et & gden ke, G & wuw

e e S-S R S

AYUT- IO 3T % =R I T

(1) SURT- e @19 3T &1 S 2 |

(2) SUNH-RTEH ITHE & WY 3T H S 2

(3) TR erd-39aF 3R STHT & GHAT & @ are
o

(4) STk ITe3- HGYF Hi T A1 T3

- 79, JI1, GHM, GAJH I |

3q1.- 3AfE Tt s, ATt wedfE

TATIRE WfHeT Fqegad a1l |

‘STeTR T TG 31T NIl &'—FH ARl ol

TR IJATE BN

(a) TAFET TGS JAd | (b) Teih Hiash I |

(c) ATAHE Higeh T | (d) STeTHr Aidsh e |

Ans. (¢) : TAF Hl ASY DT N & -39 I H

GEh AR ‘FTAHE Hieh T’ g

FEAYAT WEmT:- 9 O a1 &9 6 G e

urgell % A H A e A H 9eE 6§ e 8l

Sy Ted ieh:-faouy B s et o 81 FE W

Ak & w6 B g fwy 8, sefoe fawe # agdf

ferafes 21

84.

85. T o SI9-91 T° WETWRE' X iR T §7
(a) Aeirerafta (b) aviEeRe
ORSISEISEESL (d) TergraTeTaeH

Ans. (¢) : 3YF § WeaHaeTH T FEMRG W 3T
T R EeaEdeT W & W 8, T 6 3F 2
THHT A~ 3T, ANIH-TEEE ¢ - a6
AT SHfeT- STTEfT, Je T SR &1 & dedf 2
Auefroraitay - o & % w2

JUAEERY - YA A R

RToTaTerasm - Ted O & = R
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86. ‘whiarea’ § faRaT feRueh STTEW Eielt § ?
(a) 1 & IFTEAR (b) Fl % IFER

(c) o % STIER (d) fore % TER

Ans. (a) : ‘FHa H fRaT FY & STTER B S

wdeTe = Huared § % # year &t 21

= AT F a1l R 1 I, a9 IR g w6 %

SR B 2

= FHare & il ¥ 4 § yomr faufed, waf § gden

forafe @it 21 fpean o ®9 e # wom 21

IR~ STEHI: [Eieh T3 |

hAAred- Fgared H wAl qed g 21 R A &

AR et 81 31dfd- frear &1 gew, a=, foag, #t &

STTER B Al H g fawfe iR fRer werwd |

gt 71

WTeraTed = W 919 A fha &1 Tear gt @ o 7

A FEA 2 |

= WFarA & A H i § girar fawfe, B § wem
&Y, ThaE 1 &9 54N fBar S 2

= AT % 9 AHES O 9 & B 8

87. ‘U SR’ i T E ?
(a) 47 (Farfers) (b) 74 (FEW)
(c) 37 () (d) 34 (A

Ans. (a) : ‘FG FAR 47 (Fafem) # Fad £
= 9 g’ 74 (S
= ‘gafie 37 (Jd9)

= ‘TAE 34 (i)

88. ‘W WeE wW:' W A UG g &
(a) Sfeh: Sepa: (b) 9&: T¥aH
(c) AT (d) TISRETS:

Ans. (a) : TFM Hoomad HM: H Sy WA o
Y99 gaT 2|

‘TET Geumad &M’ 1 o oTEfa ¥ g & S
TN ¢ Tosma S wig 81 e o B3-S o
T I BT Fred Seq=T 2 21 SEH 3Ture & 3uer
B 81 gl Tl wET # STuE w2

89. ‘UtemE:’ SEERUT &
(a) gl Teqew 1 (b) e deges &1
(c) FHURA 1 (d) S deqes

Ans. (d) : TeIET: T e i 3ERWT 2|
= T T FHE- S TgET H T IR FOUR &
a9 oNfE IuEA H ¥ FE & ¥ Ma€yH FE UG

- “ugfedr e ageat’ ¥ g

= JHEIE:- S 9ol g3 A1 SN gaTl

Tiiferh fomre = afe: steaAE

aTelifpen fomg = atemaq € + WR

- ‘el TS ¥ e TR wead” a6 &
alffss e Feqes €1 3¢ v, fadier onfy aeqew gwe
g T8 R fadfen, g onfe ey S § qEue
fadara, g 8 &1 99 T8 fim:, guEeR:, AR
wm onfe wdl # qd ug g et g €1 S we
Ty § SR 9= Yo, fidiara o @ &1 Wiy degew
T ST § Tl 7% & q0geT # Jel I 2

90. ‘J1’ ey foTe TTRR W UEW Ueharoi 1 ®9 §
(a) SRR (b) ST
(c) S (d) SRR

Ans. (b) : ‘I o1 f7g THR ITH GET Tha=d H &Y
SR
T = AT feAe AR (UeEiad)
Tehaed  fgge sgesH

WO qEN Sl EEGE ST
TLAH Y& Sfyg/Sg Sy Skl
SOUgEY S i3 Stz

PART-1V/911-1V
Social Science

TSR TR @ehfcueh)

Bhilai steel plant is located in

e geTe wmETT froa 3—

(a) Jharkhand/3R&E #

(b) Chhattisgarh/araTg &

(c¢) Madhya Pradesh/q&d ey A

(d) Odisha/3TifEem &

Ans. (b) : PYeTE sem @ sdeTe § feoa 21 e
T WIS @ WO 1955 %W ®9 6 HgA 9§
e & g e § TR U 3AeE 1959 ¥ o
g3 Tg T el e o W fed 81w e
T Socll ToRT THI T T4 HIFT i M B!
TE § G BT 1 b 3 T P WO &9 &
TEAM 9 1964 H S (FR@US) § wfyd fRar
TSTHel-3TI T2 ST o TEamT ¥ 1959 . # safgwm
& Yavre e 8 wefim feam )

Ae—Ta IR 7w fEar (SAIL) it Tmaar s
1054 @ 3 1)

91.

S-SR e

UPTET Class (6 to 8) Social Studies 23 S, 2022

164

YCT

www.SarkariTeachers.com



https://t.me/PdFsHub2020

92.  Which one of the following rocks is an example

of sedimentary rock?

frafeafaa et & @S-t st s &

I §?
(a) Marble/STHTHT (b) Slate/=<
(c) Shale/3Tet (d) Granite/3A1ge

WH W Hded &t e & o wi-wdf w ged
A # B2 BB eraAfaal @ sifEfat o § o
MR il FHUATT Fed &1 3 TR S I Hdied &
FRUT T gad AR F 3Fwia & BI-aidt st 9
sfEfeEt s S € @ 39 gee IfEfy # wafEf wed
1 7 ST Tl B TEER Fe F8d ¢

Ans. (¢) : ‘Tl FEE T2 HT 32T &1 Yokt e W
AT 9 ®YMRA WMl F TWed 9 fRmm &
Goey Fffd Teer # Eud W #ed g1 g%
WeR g ff F81 S 21 59 fFmfor # Sifas srawt
&1 off e g 2|

(®) FBH fRaei g0 M SeeH-aqeT TR,
FHITARE o7 Teared, Hepiiedt, T g1 Ay |

(@) St Tt § T SoEd JeeH-T TR, B,
YT Il

(M TEEE a9 AT sEed geem-wfear e,
T TS TR H T

FeTH 9 TR # I 8-

1. 3T 9LH 2. FUE TL2H 3. FUMRA geeH
93.

The tail of a comet always points

gese A @t go W faen wde ddt &

(a) away from the sun/l{ﬂ( g ER

(b) towards the sun/?ff 3R

(¢) towards Nor‘[h-East/?‘s?r{—lﬁF FH 3R

(d) towards South-East/Zf01-qd &t 3R
Ans.(a):@ﬂﬂﬁﬁ@ﬁmﬂﬁaiﬁﬁi{m%
3 TR ga o iR farh A6 & fis ¥ S @ ¥
SR 8§ e 31 B A SR ol e e
a1 TS Fal H g W €, 99 3 g & wiw §
TR § AT A e e Ger Feerd § S o
TUHE Y F FUE Wl S § | A oTEen # e
TR (FH2) o 4o &1 o1 21 T a1 & uie @
FHE P §

HE— T gHg 76 T F FWA W fT@E T2 2|
94,

Which one of the following is associate with
fault?

Freferaa @ @1 Yo @ wwfed 82

(a) Strike valley/Afae™ =t

(b) Anticlinorium/S99Afd

(©) Hogback/%'ﬁTagﬁ

(d) Graben/aTsiA
Ans. (d) : 931 =1 &7 foH a9 21 @ 5 a1 g Wi
& f H Tee @ 9 A SR aF S 81 a9 qe
ST 9 & FROT & sp@vel & fauda faen § fawea
g 8, 79 gHeh frwior g 8, " =feat oel, " 3

95.  Which one of the following is not a tropicana

desert?/freafeiiga ® | HiT IO

THEA e 87
(a) Arabia/3Rfs= (b) Atacama/3ThMAT
(¢) Gobi/e (d) Kalahari/®Temery

Ans. (¢) : Tl SUTHELT TS T €, SEfh e,
HETHMAT, FHIARK IUHETNT HEEId 1 el Teeee
9 ot wferan # e § a5 fava F 32 WwaHl & @
T ¢ S aHe I 9 wrehy i A as wen s
R, e AR 3TeTs ydaHen § Ry I 21

o TENI WEEIE e &1 Gl a9l T e 7|

Tavar & M - faram &=

FRHH TeId - GERIELIC]

STCTHMN HEA  — I faett

Me— g’ T T SR qeed § 59 e
I 3R w21

96. Which Part of the Indian Constitution deals
with Fundamental Rights?
TR LT T -1 90T Hifetsr TR
o et §2
(a) Part [I/9T 11 (b) Part 1/ I
(c) Part I1I/9TT 111 (d) Part IV/9TT IV
Ans. (c) : IRAT HEEE H g1 A sl 9
g 21 g8 SR & dfaue § foar mn @)1 dfgem
¥ 3OH Iooi@ TSR 12 ¥ 35 a% § famm mam 2
T % 9M-3 B GRG H TSR] FaT A 2| g
ARl A Hfae g N w2 @ T 8 S U %
fersr smeryass |
T &9 ¥ dfgum § 7 g9 R weW R M 9,
Wfeht @@ § 449 dfgum g sfufEm 1978 5N
gt % ARER F 9 AR T T g feaw
21 39 Gfaee % 90 X1 H SF=8T 300 F % 78d H
ARFR T o T ade § B g iR §-
1. GHAT 1 3AMRIHR 37, 14-18
2. Tl 1 SR 3. 19-22
3. TN & foes SR 37, 23-24
4. AfYieh TA-=aT H1 STEHER 3. 25-28
5. H&pia Ud ey TR AR 3. 29-30
6. ﬁmﬁmmﬁwﬁwm 32

I I B G A 1101 B B = G M - B | e - R e R s
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97.  Which one of the following Amendment of the

Constitution of India deals with the issue of

strengthening of the Panchayat Raj?

YomEdt U W gIE I &g fAfafEd ¥ |

I AT AR Gieren= geier feram wa?

(a) 44™ Amendment/44 af RMICE]

(b) 42™ Amendment/42 af FeEA

(¢) 73" Amendment /73 & TeTEA

(d) 86™ Amendment/86 af HITE
Ans. (¢) : JIE TSN H gE H o] TR SfowE
T R 7390 WiqE Gned 1992 H fFar A 99 1993
T @ g ARG H GEEd U9 VR A Iead AT
WY @I ¥ SERE 2| TSR 39 gl IS
o el et U s gt deEreds e
YEAT 2 R 1959 H T & AR A #
TEHIA TEHEE U, SERl Al Je® R A Tl 39
afafaw 3 9Rd & dfeum § T T ©e 9m-1X
gfnford BRm T, 39 YA % AW 9 S S 2
T 243 T 243 U 7% | iAW g1 3w e 3
dfge # 114 o off St 3w e § 29 faw
gftaferd &1
qe— UM % @R 40 F TH A@ENSG &9
ol sher T € T, “TS9, AW gl @ Med S &
o3 ©h HeH I3
98.

The office of International Court of Justice is
situated in

AT ATl AT feora §—

(a) London/@aA

(b) New York/=[amh

(c) The Hague/= 3l

(d) Paris/4ftg
Ans. (¢) : IRIETT <A F TEATT T 3 (Haweivs)
§ fRom g1 THS T 1945 € F YA U F AT
Z F W SR A 1946 F HW H YE BAT T
e # 15 ey g § R g Oy weme
IR gl aRuR g 9 auf % ford g e @1 & Wi
Y T T W AR STeNT-3TenT HaaH Hid &
IR =marerd § gRedtg =mnedier #1 $59- W a9
TF (1952-53), = f¥g (1985-1988), TIHEA @&y
USH (1989-1991), S WUed (27 3B 2012 ¥ 3
%) |
TR T AT URE B F F
99,

Population control and family planning is listed
in which Schedule in the Indian Constitution?
ST fEEr 7 ufter e e ared=r
HiqenT o 2t fonsT 13\:]* o orfirer 82

(a) Union list/S =

(b) State list/Tsa T

(c) Concurrent list/Fwait ?Eﬂ

(d) Residual subjects/3TafRre fomg

Ans. (¢) : S =0 9 9Rar e favg ardE
T % ia wHadt g § wnfee §1 99 g, TS
Tt iR guedi T # Seow wWdl e § &1 §e
T H ga &9 ¥ 97 fawa (@dmE # 100 fow), TF
Th & 99 ®9 ¥ 66 fama  (adAm # 61 fawm) IR
et g § 47 v wnfae 9

g et & fawa—arda fod &%, @9 dm @,
TR 9T S, I, W AN, SUET, e wda
Tamd e

T Geli—ais awen, gfer™, e, Ff o | &,
T ©lieh F0T, Al TR 3T Twal 3TfE |

Toedl geft—are w5 strta ot i fEa fhar

gifesn fge st S 3R 9oy Tt 21

100. Which one of the following Directive Principles
related to Foreign Policy?/frfefaa o @

-1 fevren fagia faer Hfife & weifer &2

(a) Article 49/3T53% 49

(b) Article 48/3TI=5% 48

(c) Article 50/37%% 50

(d) Article 51/37=3% 51
Ans. (d) : 3T=e-51 Hifq v fagra & srarfa faaw
Aift O g 2, g9 v I8 § f6 erisia wify
I G F gl B q TR F fiw =t 7R
el T St ST W
o T Wed aldl Hifd fohd T FHenes a1 ufawihe
el el WRe a1 W A a% B S w-
T 49 |
o i ik wyEEE # ey R Awe aAR @
T B3R 48 |
o TATGROT T TR T Gaeq R & q°r a7 et &
T FHA-ITTEDT 48(A) |
o T F Wi Tarew H, =Arguferd & wEfo I
T FEAT-3TTE 50 |
o I U S T3 R IR MEvIE WA T&H H
I o 3HE & & § & HH B AR &= HEAT
3T 40|
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101. Inversion of temperature means

ATahR faretrar s otef g—
(a) Increase of temperature with height
TE 3T o WF TG ATIHA
(b) Decrease of temperature with height
TE AT o WG FAT AHA
(c) Constant temperature with height
FEh a8 & g e e
(d) Fluctuating temperature with height
T HaTE b WY AR A
Ans. (a) : T9H farciimar &1 g 2, sedl SO & 9y
FEaT q9RA | G fam o fauda S@ argEved § S
# gfg % g e § wf A S 9fs @ A R A
78 Raf @i facmar weend 81 3@ Rafy § qoam &
IEATER YA It S & WG arg N wiad W A q=n
™ e SR | @ St €1 S@ T ogar 3 g &
FW T & S § A ARl HEU I 2| §H W H
T ST B [ F I g G @ @ i b %
YU A e # gE 39 WM S 3 & |

102. Which one of the following reservoirs is
associated with Rihand Project?

Frrafefaa semert @ | s Rge aiEsmr @

weaIferd §7?

(a) Govind Ballabh Pant Sagar

Mfe= geay Ud GrR

(b) Gandhi Sagar/‘ﬁ%ﬁ R

(c) Jawahar Sagar/STaTet | X

(d) Govind Sagar/"ﬁﬁﬁi R
Ans. (a) : ‘TE= IEeAr Mas Ty Uq GER S
§ @it | Re oRaESHr 3.9, § 99 1 g =3l |
IGH qEFeh T4 Res W oIR8, 39 a1 % 9
Tfere gea 49 TR WS Th FHH A a9 T E
I 9T H 999 IS FOW A &1 I qF. qq1 SH. H
i o e £
e IRASHT AT F FEEE TEd a | Gge ®9 9
T T € 39 uRaEis % SFld Ay, # e §eR sy
T TSI H O JaY GR aiY, SEel 9P g a9
T €1 39 IRARHT H g5 32¥d Hedt a4 ooft & g
T TRV FT 2|
TR AT IRASH-TSTe feaere ye # Haerd T8 W
A T ? T AW H GIW a9 Sgeeeid A9 =
RIS 8, TRIST AT A HHR B GO S e
JiY 2, oY % e ol el e YU S 21

103. Shipki La is the famous mountain pass of

Praaien wfirg weldar ot 3—

(a) Uttarakhand/3TUEUE <hl

(b) Jammu and Kashmir/S/] Td HTH &
(c) Sikkim/fafera

(d) Himachal Pradesh/fgam=rer TR H

Ans. (d) : Fusien 0 fame w&w #1 wfag gddg <
21 7 < freer i foesm @ S 21

TgarE & § o BN & Rd B g S &4 g,
7§ A F T Al gew o e w21 Sifven &
SRt aoft # Red 2, 399 R ¥ A 1 AR e 2
afered & ¥ T ¥ R T H oA R @ A
e gl o sfere &t # 21

ffepa & Ryd Tegen & Sown & & 9% Ted €, T8l
¥ TSI 9 it aet § de fae S @ A gl
Ae—giren, a9, Hifq 7 faqee T swuEs & Y
groft # feora 21

104. Social studies teacher should have the

knowledge of subject matter as well

WG AT o HeAUS hl fova-awg o
-\ FH T AT

(a) Teaching methods/f¥m&ror fafer=it &

(b) Educational objectives/f3Te & Ieval &

(¢) Teaching technology/f¥TeoT Teh-ieh &

(d) None of these/3TH T Hig T

Ans. (¥) : 9IS TR & TS HI fa9T 9% &
Tro-gry freror faferd, forenm & seval aor e aeie
F o I B WRwl g &1 § R endf # =
Y& F & 39 forror fafr e £

fyreror & fafemt s fafer enfg €

foreror fafer — yferargen

wiewd fafyr - e wiewd

foher meT fafyr - ShIsT

Me— 39 999 F (a), (b) 741 (c) T ooy &8t 21

105. The most
Geography is
e forer ¥ waifteR Susnft wETEeR
Tt 3
(a) Map/dHfea
(b) Calendar/FeiUsl
(¢) Flash Card/Fi9T &7

(d) Barometer/SHEY

useful teaching material for
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Ans. (a) : T 0T 77 Taifers AT TEEE e
‘ARl &1 AHE gest S Tag A1 39 Th A H A
& e ¥ 99 §ag W diEn e o 81 At et
THR % B &

difqes AFAToE—geft # Tpfass Tl S-uda,
TSR, A, #eM WEENR 3efE IR A gEfE
! ifies a1 IearE A HEl S R |

foriifess amfoa—3e wHfe fovm SHsRal sem Fd
g 9 Ye% "M, au getE, &9 q91 Sd e %
faaeoT a9 At At &1 frifess oMt Ser S 2|
TNE—FHRE & I T2F 8-

1. g8 2. fazm 3. wdis
106.

'Ashtadhyayee' was written by

‘sreeTeATElt | O T 99—

(a) Panini/qmoT (b) Vedavyas/a&=mg
(¢) Shukadeva/[Had  (d) Valmiki/arcHifes

Ans. (a) : 3R % i@ WIOET &—

TEh - [greEg

HRTHRA - 3T =9
THIT - JreHif

e - feroy

STETfeaR - WG

TALAR AT, - G
ST - oY

L] - [ENIECEL)
GRPNIEE] - =T (fersopreT)

107. The Second Buddhist Council was held during
SIBISE]

the reign offgcfrar g wfifar =t
TeheIoh TSThTer | gt on?

(a) Mahapadmananda/HedeH<

(b) Udayabhadra/3sa9s

(c) Shishunaga/fRT3AT

108. Akbar constructed 'Ibadat-Khana' in

3Tehe X ‘ZATEd WHT' a1 fAmiur s -
(a) Fathehpur Sikri/BdgqR Tt #

(b) Agra/3T #

(¢) Delhi/feett |

(d) Sikandara/fehaq §

Ans. (a) : 3R 7 FARAGHT H AT FogR G §
Farr o, e 1 qom F R ger @1 g fmior
1575 §. © fopan 7o o1 geed @ H et faf emt
% gl & Ty ==t & 91

AR Tratorerat =
GIEEGCK] TTESTel R
et feper &SRl feredt
3TReR T Hehel ST [BCT
U fohe I o fereeft
SEAHR S ST CISHN
FTTHT FIE T fereet
@ o 1 el | FAIA T | ST (o)
3ehel T fehedl SIEENN ENIGEIS

109. The Arya Samaj was founded in the year
T TS Y TATYT §§ eft—

(a) 1870 A.D./1870 §. §

(b) 1865 A.D./1865%. |

(c) 1875 AD./1875%. ®

(d) 1880 A.D./1880 §. &
Ans. (c) : 3 GU I MO 1875 3. § gEE § gl
oAt | FHH TG T A= T 7 A

(d) Kalashoka/&Tereme e TATYAT a6 WA
Ans. (d).:@?ﬂaaﬁaﬁﬂﬂﬁwmaﬂm% e 1828 | U9IW Wied T
ToIHE § g AT| Sl HATE S S T e 573 ——
Wq:ﬁq; T;? bl e 7S 1897 | @l faees=
Tefifa ER o T feE 1897 | =t fagem=
fodfa ats | 383 | Fwmeh | gawnl | wwemens ||| ST R e 1904 | forms TR
Tt 3, HrawE
Jiaag | 251 | WA | Afaqd | 79 g 3T e 1905 | Ti9rer T TEet
gfifer g, foew S
fﬁ%ﬁg iaf ﬁ(wugf E) ik ;/ I T e 1913 | o et
A TS 1923 | Hfrena e
Me—aqd a5 T F A @G o 3 A A G S =
Td W # s & FES sl 1939 | gum 9% 99
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110. Who among the following was not associated

with Kakori case?

= o @ T weRr wie @ wrat-erd TE 3?7

(a) Rajendra Lahiri/AS s wee!

(b) Ramprasad Bismil/Tasere faféget

(c) Ashfaqullah Khan/3TTHI3eel @t

(d) Surya Sen/?ffl@:f
Ans. (d) : FHH Fig ¥ gF U wEiEd T @b
Hie § TR 81 BT & H 3.9, TWHR A HHY HiS H
TH TEAR BN 27 THRE L A7 39 A g9l
Seet & T 5 Fie v T 9o B T gwiar 81 9
AT 9 STE 1925 Sl AT & UG HHA THG W A
fofewr T ¥ foodw 9IRdE @aear oT=led &
ShifaehTiRal SRT St T i
Me—gd T FeTid TEMR qE (18 WA 1930) ¥
e ) Sa & gAY (AR @) 7 13 faws
Yae SHifdhRt SR B Ag e
111.

Which one of the following is the most suitable
teaching aid to show proportionate size and
shape of continents?

frifra & & ®A-dt Rreor wgees |l

Tl & ATIUT Tk &1 Ue 3T ekl g9t |

Haifiren Suged §7?

(a) Physical map of the world

foargar &1 Wi AT
(b) Political map of the world
ferea &1 e AHfE

(¢) Globe/Tad

(d) None of these/gH ¥ i el
Ans. (¢) : TS T HerFw Yemr gl 21 frwer s
TE % ST 49 T AR #1 qwiy § gaif
g §1 Tl gedt B oY &9 § U arfas gfaed 2|
T R AW, FETE T HEMIR @ 3 Hel SRR H
fewman S 21
Wi TR A AR @9 § ST g @ Wi
forsroarst &1 gwiar 8, 99 wdd, WOR, #M, HEEER,
afeat emf |
3R vl 1 Sl S Terifas el & are
Sl
foriifess wafos-g2 Amfo fovm SHaRal &= Fd
g 1Y "gs AMfE, 9l aEfEE oNfE 39 YHR & HH
F frifes W FEd 81
He—uafs & 6 s g-gft foon aiy gdie

112. The suitable method of geography teaching is

aeiver fereT i Suger fafir &—

(a) Discussion method/aTdfema fafer

(b) Tour method/&HuT fafer

(¢) Story method/&aTt fafer

(d) None of these/gH ¥ i el
Ans. (b) : I foryor & Suga fafa gwo fBfa g
gaur o w o s foer fafy @ gw fafy & oo
T WERT W &1 g fafy gm Ao favm awg @
AR F | 59 A F Sl H Sraelie, sodl,
T, feuqult wd faderor emar S et @ o @ gl
gty fafyr a1 SaEa A 50 NS § WER 99
FH N TH TgUEIT N R WEw § 39 W
o e & S YaH F 81 der/deA o
T Tere e i U weyel fafy @ gus Arew
Y frers oET 1 oA STu SR a Fwar 21 7e faf
T o )
Are—ygmur {4 % S TSt |
113. A universal language of the map can be

understood by way of/HT{er ) Wﬁ &t

FeeATdT WINT Shl THEAT ST Hehall §—

(a) Conventional symbols/&@ gl o

(b) SketchRw@=mt &

(c) Alphabets/a'fffq'l?ﬂ & 3 g

(d) Thematic maps/zﬂ'ﬁﬁﬁ et 9
Ans. (a) : TR H T H FIATdT AT H T =T
Y gHEm S GebaT 2?1 &g ol ¥ awwd 57 fe § g
2, S ofe-3rerm wifdes i Wi Gwaet B yaiid
& & fou fffa 5 om0 §) @ fas et fafore
T o fafire g afe @1 wefdfd & & forw A
S € o SH Hed § ®g @ 96 §, Y 3% %
foe’ el S 81 S Teh & IR ol gEd aE W
AMEAM & e-3Ter fug, a9 onfs | Adl, drm,

g, e 31 @ Wl & & fIT a9 99 &t fae |

114. U-shaped valley is formed by
J-3MTeRR Y T1eT et famtor e &

(a) River/7& g1
(b) Glacier/fgRaat 1T
(¢) Winds/9a4 ST

tdy—Scawaves RS e
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Ans. (b) : T-HR 3 T H1 P ‘BETa g @i 2 |
FaE W Ry fRfEl & uvd SWEd % HRU 39 TR
I 1 1 FEior S 8, SR e q1 =er T =ue
A7 R @e 814 § e F0T SH AR U 3R &
T el B 2

V AT &t "ré-V TR # 9dt qddig &5 § arf
S R, V @R # e & freen am fiqd g6
et % N fewrEn S @ S ug-ug Red @ € aen
o TH=T &1 99 F9 BT 8, AR 1 R Red THe
@t 1 49 Th 99 &9 9 a5d 8

TATATA— (T T Te1 W HH 3518 F I 1 SeaeR
IR STeTsaTe sheer 2 |
Yre—afi-59 o o GO o] % ®9 § Arar @
g el 2

g, E UH AffHSH SHHAEN o, THH TAY Al
AEHAUT 1025 . H GEATY Afel H1 STEHAVT 911 IR
N HEIU FEWE H | Jgaryr T feen, frer-v-ga
T Afsig &1 fmivT IReTE % g fRar T o

117. In whose region did Hsuan-tsang come to India?

T T feReeh IE e § WRE 3 ar?
(a) Chandragupta Vikramaditya
EE S REERIERf
(b) Samudragupta/FHsIE
(c) Harshvardhan/gSa€=
(d) Skandgupta/Th<TT<d

115. The capital of Australia is
TR feraT St AT E—
(a) Canberra/&a
(b) Sydney/fae-t
(c) Melbourne/AedT
(d) None of these/3TH REIHE ]

‘Ans.(a):a@%mﬁwaﬁm%

Ans. (¢) : TITHIT BYGEA & YEAR H T AT T
629-645 . & o9 IR § @I, I8 A ety |
AT FA TN WG T H THT W A I F o
T AT SGHT AU g S-F-H F AW F 9fEg B
FfeaH T WY FEW f5dE (I fawmAfeE) &
TER H M AT 38 9 o H AN, & Sar &
q@l Td §g S|

SEARY Had T Afarsg 1 Joigd o, S FrgaR
% @R | 3 o

TRiffEy- o7 fre R it Reereesy &1 Isig o
ST 379 o @R | ST 91

TR Sl F1 AH A1 A VST < B AF W ST A1)

TS T fosadl d@s o

118. Who among the following emperors was called

'Qalandar'?/fr=fafEa aevmEl # 9 e
‘et el WTaT §7

(a) Humayun/'g'm??: (b) Babur/dTsX

(c) Akbar/3THsR (d) Shahjahan/ITesTgt

T e e
efetvs afetmea TR
i TRISTEATEH i
TS arfaren aq
g = AR fopm
EEIE IS U.S.A SieR
Siffree T g Sif drar
TN 7 aegel T S e
IS eiiten| T gfeR
il urd ei-fif me

116. Who is the founder of Din-i-Ilahi?
HA-T-TATET T TIAT FRa hi?

(a) Humayun/gﬂ'l'{

(b) Muhammad Gajanavi/HgH< TSI
(c) Akbar/3{hsX

(d) Shershah Suri/¥ReTE T

Ans. (¢) : S-U-3ATE! &I LT 3ThaR 4 1582 §. H
ot =g faft=r ol & o mavs #f O & 99 F ol
AR T AT AE U YR fAvary war or) s9H gft
vhf % oS dd wHfed 91 gAY 9 AR AR
AT & off | GEEATT @ @ [Aeed ST A @ A

Ans. (b) : TTA FEME TER F ‘FHeral Fal I gl
TR HT T 1483 . H g3 o11 e & A ey fiet
o1 S UM & IMHE ¥ dER A & e 9 P e
F o aER F aEmE FoIW gwRer # ff) gred &
oW IE H a4 T aR i g Afd ud dees
F1 WM fRam o) 3ER ST UH THAH aRK & A HHS
Aot (A7 = ) & S e % e g # 9w
feram an

o TR FHI U IIRAT & ford et 3wy & it

o THAT & IF (1527 3.) § @R A [UmEim & faars
fSre &1 A e

Ae—a@R 7 A FEHAT T (To[H-T-TE) B
@ ol § @ ol R 9] § erer SR 9 |
STEITEH WH WM A fham

TR TS b SR SR - e 2o o i
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119. The Governor General, who partitioned Bengal
was

AT T T & ST T STl AT—
(a) Canning/a?ﬁ"T (b) Curzon/&si
(©) Minto/fHeT (d) Mayo/ﬁ?ﬁ
Ans. (b) : A H FASH A Tl TER WA S
Fo ATl FHSA A 19 JaE 1905 H FMa THSH &
g &t Swom 1 efaa: a9 1911 § wed falw &
FROT AL FET T M fFISH B WE HA S =wor
F TR
o T HHT F T H T WUl AT 1857
hifer o
o o fidl & THE # orem frafed =awen At i
R A, 1909 5 foham |

o A WA % THA H FH UM 1872 H el w
Ae—vaiy T 7 RoT # 9 & IeRS H I 4
120. Kunwar Singh was the Zamindar of which
State?/@fﬁl’{‘ﬁgmwﬁﬁtﬁ?ﬂ a?
(a) Jagdishpur/a"'l?ﬂ'k"l'g'{ (b) Barrack—pore/ﬁ'ﬁﬁ&'{
(c) Avadh/39Yg (d) BitthorefﬁB;{
Ans. (a) : R i TR TS & TR 91 1857 A
wHifd & SR, R, 3@y, g F1 $9 T o A
TS e o1 ST SRR F A9 $eR g 7 e
1857 I SHifd I AhIcIn HRUT T 3R G3R & =&
T HRAF 41 29 A 1857 FHI A qUL AWF Th Hfh
T T F Fe el FRAE B R T FRA ¥ TR AT B
faar, 10 7€ 1857 €. % oA T FI U THS 20N.L T

9o9q -9
dod - 9
foe - &
forpe @RI 1 g 5 @
Fa @, T, 8, A
g @- 1

122. With which Gayald Char Taal is used?

TR AT AT YA feRd Tt o arer feRam Sirer €7

(a) Tarana/aq-1 (b) Dhamar/¥HR

(c) Dhrupad/{9< (d) Khyal/&=ame1
Ans. (¢) : TR T FH TN YU M 6 W fopA ST
21 g g ifid & w99 [ 3R W= 'O H
T 21 3ok & IEAHA § - 3R se@EeT ¥ A
T AHRTE MR & TR % g% T4 a1 fed €1 gus
TF FAHF T 8, TTH TG SRR F T AT T 2
AT — T8 Th B Tpfaeh T &1 7K Gl 1 39
faem a1 S | ST 2|
TIE— 9 BRE F1 Ie3 2, 39 o1 g @ faem
FETI TH VIS & 3T H 4T STHR GEY FHI & S
2 A F VEE @EY T S B 99 HEE<
forma @f & 21

123. Amongst these who is not a "Tabla Player"
TTH | S qeeT aree | TE 82
(a) Zakir Husain/STTfeht @7{
(b) Pt. Kishan Maharaj/d. {3 #grIst
(c) Ram Das Sharma/TH I19 314i
(d) Ahmed Jan Thirakwa/37gHg ST foReRar

1857 # i 1 AR gl feeh B g TEEE| | (AN, (¢) @ THAE YA A A T E TE AR
SR 3 T o, oS S g AT e T e any || (B9, U FRY WRRIS, 37ea S frehel deren Ak €|
Ae—1857 §. F FHifd F I IRA H TR THA A | || 9RA & TG I
FAT T oAU & T TR 9 e T
121. How many Suddh and Vikrit swaraas total are || fdX tfeq v, Ffad =i, faemem
there in Hindustapi Sangeet? i
fegearft wfia & gl o forgpa ot foremment | SRR g, TEE WeNS, fhed
ferem @@ g €7 IS
(a) 08/3T3 (b) 12/3@ e qTTerTel S, BRI SRR, TN
(c) 07/8m (d) 11/ Fero
Ans. (b) : et ST 7 vz i fog g frem| | | S ST @i, ST ST @t
12@(%%}@%13731334%5%%@?12 p— Fifereen @, o s i
WA T El s W AR e W @ g A s | = ——— p—
TR FEAR B 1 YE TR T A T - Bl BAE
‘qggr - g1 HET[ Wqﬂw%’ (E‘l;
o -} [ R fag @i, W ARE, e
TR - et
| grom TH TGS, IEaaH SR
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124. Where was first "National Games' Organised?

vow T T et ArEr ga?

(a) Mumbai/T=s (b) New Delhi/TE faceft

(¢) Kolkata/®Iaeml  (d) Chennai/=%
Ans. () : 1940 ¥ & (T=%) § ¥oW T @A &
MESH e T o YoE & a8 ae AP well
A oA ST @1 3 Tal Sl IR el ©d &
TH G o S ST 81 WA Ugell aR 1920 H ity
ol § 9 foan 1924 & Softys @a § 99 oF &
faw faafeal & wa9 ?q 9ol WA Saftus @d
1924 ¥ @R # SmEfa fhar i g @ & At
TR e § 1940 H et feem mm, e 9
st we A fean

TR WU S R A AT S @1 MR i
dferdl W The 1 1 yurofieRor 317 (SAferet) @ e 21
AT St (Certified seed)—3T8R &Sl § f5aUM &
T sis dar far Smr @1 R S ymofieeer deen
g1 FrefiRa A SIER @ S W St e S 2
afor st & dferdl W A T @ S @ g 2

127. Central Institute of Medicinal and Aromatic
Plant is situated at

e afwelter T e e weorr R -
(a) New Delhi/g faeeft

(b) Hyderabad/8etdma

(¢) Bhopal/drdTet

(d) Lucknow/d@T

TRl YHEH T WA 1985 H 3 faee H SARISM| | |Ans. (d) : BT fwef g gy dten dee a@ee J

fepa feom 21

125. "Today India does not need Geeta but needs a || Yyg peict TR I
which Thinker o oo s o st || A S R e 7 fo
sfeen GeaTet & e w amevemAr 1 g || T LA ST He RS
fore e 3 e fwam £2 TS o oA ST SR
(a) Swami Vivekanand/@mHl fqaem—=< HEra e Fmior SHeE S G
(b) Radhakrishnan/€mh™T T 995 faee g TUTSH
(c) Pluto/=iet FEA FHET SSIERT STEAE | AR
(d) Rousseau/&dT e

Ans. (a) : ‘3N YRGB Md # T Afeh Geara | || AT T FelgoT fersT EAGEANI

T 7 eTavESd 817 98 R @t faw St @ 2
“forers 9 9 ST Bm & fmm § qe @ owee 39,
afeh ardfas fom @ a8 € ST S§ o At %a F
Tt o fodr o - TAUTE! MEATHT
“3Ta Sfed % T & for g Sfad @ STaEr S
Sifew & erem & SfeR 80— W
126. Progeny of nucleus seed is

e ofter o wafa -

(a) Foundation seed/3Tem{d st

(b) Breeder seed/SSHa® sl

(c) Certified seed/IHTUTT st

(d) Registered seed/dsiighd aist
Ans. (b) : ‘TSH® dN HEE S (Breeder seed) @
g ?1 ER YEAT B SR I I FuH H
SUCs BT, 399 Sisi % Seared W TR @ 8, Sore
T I FT P ARG B SIHIH B T T F
Fy fovaframem g fFar T @ 9 &9 # 9 W
el G 1 1 AT % fFeRer 1 A o @ 2
MR &7 (Foundation Seed)—3% sl S5 sl &
Tdfd 2t & {59 siel ymrofientor geen & 3wty & fygiftg

128. The most suitable fruit for marmalad making
is/ATerE ST & feTe waitires Suge et g—
(a) Jamun/STHA (b) Banana/3ell
(c) Malta/Hree (d) Bael/sit

Ans. (¢) : FHeE T & o waffee 3uge ®a wreet
21 meer Fig wenfy B GeRER U@ SR sk vk
e Het 81 SHH T 2 e afeh 3TH vt off HOR
21 e % Yo g E A 9o | A 2, s uad
& U 1 AT 1 @ G F FeE 39 | et faew
aRar & e 8, e faefim ¢ vafa qen # g S
B A @ A YR & AW H BEE B 8, A8 W b
3T T B AET B G W 81 sEfEs & Ol
FI ufafed S & a1 ol A T HET AR A H
ool oS IR 1 i S 2

129. Central Food Technological Research Institute
is situated at

Wi e Wt srgeen geerr o ¥
(a) Maharashtra/HgIe

(b) New Delhi/7E faceft

(¢) Karnataka/&dice

L

Hﬁ

AL £l s
() INonC o tiese/ S X T—=mS 1ot
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Ans. (¢) : P T NI SHYE HEH W
(Ftee) § Rem 8|
virer wea= T
2w SR o hered e | R ()
IRAT T TSR FfRretoT T fawett
A g iferad Hee EQICC]
IoT I SFHEM AT T
FE S ST STHEE EAEAG]
(FHT)
FIfAT a1 e Sia e Fs | dEe
FET T STHYH e CEC IS
130. Which preservative is used in Jelly making?
Sreft s # fore ufReres 1w e 87
(a) Pectin/Ufs
(b) Sugarm

(¢) Sulphite/Hcthige

(d) Sulphur dioxide/TeH STENTFES
Ans. (b) : Sl a9 ¥ wehU IR w1 FIT el 2l
S, Siofl, Ud Thawr 1 R d+ g fRem S 2
I+ F v ¥ @ gad T F FH e @ S osgeor
H arel Samgs # gfs & e s @) T ga
# IR B S g, Y 3R ot off
TEM BT § S TR Wl S % @y T A S € A
IR AT B YE & S 2, Tg ATH 9 F 5, el
3R R S H AT S @1 el & W G Siel FAE
St §, S ®el & & ¥ S S 2
THE TG W A F I9AT geH Sfal @ gy e &
for g &9 § fha1 S 21 o7 3% IR Fed §
Qfeaq SSiise 71 Qfeaq FEETewEe am REs 2|
131.

Community Development Programme was
started in the year

WS forehte ThEish el J& fehaT Tram?

(a) 1955/1955 § (b) 1952/1952 &

(c) 1957/1957 ® (d) 1960/1960 |
Ans. (b) : 39 § TR faemd HRAHA 2 FaRER 1952
¥ ¥ fFar T H gven AT 9Rd # e @
A H A e giaE Sues U4 % e aiy
Trefior e e AET 12 3e 2005 1 IRY fRar
TN FAAE H 39 HEmd S gequl <w § an] fean mn
21 o B, B ad 2013-14 # &g gefor w@we
frem (NRHM) @1 T=Tg 3l @res faw (NUHM)
F foae T @re favm (NHM) =g fevar e
2022-23 § NHM & foIq afees 337 g9R &g foar

TR E 4

132. The Supreme Court of India enunciated the
Doctrine of Basic structure of the Constitution
in India/RA W Ioela¥ T = HiTenT &

gt gt o fagra fean—

(a) Sajjan Singh case/Tsor g & A |

(b) Shankari Prasad case/¥ieh UG % TS H

(c) Golakh Nath case/TAHT & A §

(d) Keshwanand Bharti case

HIEFE IR & A §

Ans. (d) : IR § Iegaw =AAed T Gfgum & i
g &1 fIgr HIEH< 9 F g § ) Sy
TRt A #1973 § gared <m@e F =awen & o 6
T 368 & ded WHR I el Tt v diaEm
% A @ B dEA @ A TGN adll W
JES Gt H Fated =maed 9 Yed TEIE aAW 9Rd
THR AT (1951) 3R TeoH g a9 T THR
AT (1965)" S AMWel # fui 39 g¥ TEg S Gl
T Heied F A QU wfe Y&E # T ey aem
e WEHR (1967) AW H Hated <Eed 4 F@1 6
“HHg TSR 368 % 1A Hifers IRl H wuWa A

Hifa e &1 wfem T T

133. Under which Article of the Indian Constitution,
the Governor has the power to reserve a bill for
the President's assent?

O d@fga % fRe sgese % A
TSIUTA Ueh ferare ol egufer st liehfa &
ot gfera T st vTferT WaaT 872

(a) Article 108/3TJ%8% 108

(b) Article 52/37=3% 52

(c) Article 200/3TI=8% 200

(d) Article 213/37 =% 213

Ans. (c) : IR HEAIH & 3. 200 & FHd TsAAA
fpeft fadres 1 Tgufd # Wil & o A W )
T T @1 WREEE F 3. 155 F IFIER TsAura
foragferd TsrOfd SRR T SR & weAw § @ 2

o =T 52 # TUR F 3w 2|

o FT@T 108 o I fohell fagass W §9: & AN
Tl (AT TAT ToIHA) & TeF oy & Ry §
Gfae g gR G Ao B gEUH A w2l
g 9o UL 5 Jes S 8, a°7 gHe STeer
TAHT AT BT &1 3. 213 F ToAYS P AR
T B B R § e T & SRy 9
2 wife arg 103 # 71
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134. The Vice-President of India is elected by the
members of an electoral college consisting of

ORA o SWrEUfd o fHatew frates qvea
BT e e €, Rraes gee B €
(a) All members of both Houses of Parliament
TG % I Al & g gE=
(b) All members of the Council of States
U7 91 & aeff 9ee
(¢) Elected members of both Houses of

Parliament/S9g & 1 &1 & faifEd 98
(d) Elected members of the Council of States

T 99 & faffad gee
Ans.(a):W%mwmmW%ﬁm
& ot wew g fRar S 21 §fawe % o= 63 &
IR IRG & TSH IYUPURT 21 ITLU 1 98 39
1 qE HATeT UG BT g1 ST F UL SR b
IHU F Ug H qS W aHE T g1 Ul &
S g e T8 g S afesws wie fafy | A S
21 98 GO9S F <A Gl F gawdt & s ded gw
T S 2| S 98 & 13 39 R o AWRe g
Tfew, 9 35 a¥ @ g qof HR gH @ qU ToAg
aw 4 % forg aifda &

135. Which country is not the member of SAARC?

- T T T TG T 22

(a) NepalﬁW (b) Bhutan/¥<m=

(c) Bangladesh/STTaR¥ (d) Japan/STar
Ans. (d) : ST’ 289 (SAARC) & H& 39 4 8,
SEfh U, G, TARY B F HEE 9 g1 o
TREE &EE gan e (The south asian association
for regional cooperation (SAARC)) & ®9-T 8 fagm
1985 I @ (TR § Geh =L W gERN & 919
T TH TISA F T AU & HeAweg § fRed
2 oA # 9 % oUW 3W &- (1) YR,
(2) AR, (3) M, (4) NG, (5) U, (6) W,
(7) Siciet, (8) TrfehEar |

oﬁﬁﬂ%aﬁﬁﬁﬁmmél

o T T TIE T T Bt 2

o A &I @H ITg 9N - TRA

o TIRAA F WA AT 9T - YU
o ATft & WM AT AT - S FW

137. How many ribs are there in human body

e IR § et femat waferat gt €7
(a) 26/3=9 (b) 22/a1EG
(c) 24/=" (d) 28/313EH

Ans. (¢) : 99 TR & F 24 qaferar st €1 gforat
fré &7 § 9 g W €, 3 9w @ Ry wd dede §
TeH TF I F T B | TW THER T H
Tgell fist ®ed €1 98 % Al W 12-12 gHferEr g
F1 TR TR % $9 FewEyul 7 TuH TRE W §
I P FIEH 48 33 FUEH ¥ Ao S 21 @l
Y% IURY TG F g IS WA &1 3 e @
FYEH IVS AT @A ¢| THHT UgCl HIeSd S b
TZeTd 3% HEAMI 8, S WISt HI & Tl 81
138. Which disease is prevented by T.A.B. vaccine?

Fru . o Hemr forg AT | Srema T B2

(a) Diphtheria/fSTifar (b) Tuberculosis/TdfEsH

(¢) Typhoid/framet @R (d) Pertussis/®Tel @Er
Ans. (¢) : AT, P FH HAE JER T T BT 2|
Tg A TEH SEn] g ted 21 39 9N,
FAS a0 TR # a2 g9 o &1 fewedfan, st
3R o3 % fow €LAq. &1 S ommer S @1 U
(o) & forw st s, s der o S 2

139. On which day in 'International Yoga Day'
celebrated?

‘ et o feam’ ferer famr wamen e 22
(a) 20" June/20 S (b) 21 June/21 SH
(c) 25" June/25 A (d) 28" June/28 S

S & o o - e e i ¥ Ans. (b) : ‘SR A RS 21 S B F@1 ST 2|
136. Saffron is obtained from fered romef fee 20 S

R T R T §— fere g feaw 12 37T

(a) Leaf/ot & T g feey 12 SHadh

(b) Bud/mferr @ fava arfat feaw 21 O

(c) Flower stigma/T afifer ot feag 9 S

(d) Calyx/amed IAYS & T fag e 28 HEd
Ans.(c):WE{WGﬁW@WWW?IWN fva ST 18 apret
aﬂmﬁmwaﬁwﬁzﬁw‘%mﬁ—wﬁﬁsﬁﬁwm%w e ———— =
Y TSI E 1R TH GAY A e dren g1 36s I
Fi affem o FE, dE, G5 oI Fed 51 T B f 29 ST
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140. In which clothes are resin starch used?

feret arEll o TiiQ o HeTth ST SUSNT el &7

(a) Cotton clothes/{vﬂ 99

(b) Woolen clothes/31 a7

(¢) Silken clothes/ ATt a&

(d) Nylon clothes/ Il &
Ans.(c):wwﬁﬁ?%wm'ﬂ?ﬁﬂﬁmél
I I S W & W0 R
WM % B THR b W IS T T GHT &1 T WA
9t # qed: wigals (Fibroin) 811 81 4 W g9 #igl
% @t gRT SR ST €| 9o 3w 19 Yead 6 Tl W
TS AT HIEt % ot g/ ST S g
141. When "Sports Day" is celebrated?

‘g feam’’ we wATEn S €2

(a) 29 August/29 3TTT&  (b) 25 August/25 3T

(c) 30 August/30 3% (d) 31 August/31 3T

Ans. (a) : @ {99 29 37 I 7R ST 2| EH B
SR AR &AEE & Sl R @ a9 J4m@n S g
29 3T 1905 H FHI S 3T 1| VR Tafafer
¥ ot 89 % o T ged SreeT ale@ @, a9 @d
T SR o § g e S 2

gedt feag 22 3

foree S femw 11 S

fe=l feerm 14 R
S T HeoT femw 16 faawar
fava @ feag 16 R
EISAEER] 14 =R
[EECICEIRECE) 12 37T

fova wataw feag 5

142. Who is the author of the most prominent book
on yoga "Yog Darshan"?/31T & Tl W e

Ter AT gEiA | o e i 87
(a) Mabharshi Narad/Tef§ IRg

(b) Maharshi Bharat/9gf¥ =a

(c) Maharshi Patan;j ali/mef udwifer
(d) Maharshi Devdatt/Fgf§ Zaeq

Ans. (¢) : I & &Y | W@ 7Y I R & TGS
el geser 21

g T Siecy

RS qreE TR AR

Adish EICIE

e g EIRK]

= plikskil

B S
I HHrEr ElERL]
EMIbE FUTE
EE RIS R R FHiferard
ERERED ]

143. 'Zein' protein is related to which crop?

‘Siga’ AR W foRe wEer § Wi §7

(a) Soybean/TEEA ¥ (b) Paddy/aH ¥

(¢) Maize/9T G (d) Oat/vE ¥
Ans.(c):WWWWW@WﬁH%I
FEEESe, NEH, a6, Fei qor G o@u % e
gUR oM # 3Rl W ik @ ff ud S 1 Sem
R & 9fg F@ § qeg W &1 N TR FH AHHOT
. goet 7 1840 H 5 911 T8 TH WA HrEfh AMTH
21 9 STager g Fasl & o § 9 @d § ae o
W & FH T FARER T AOEE A9 AT g S
2| Uh H ®TES 913 UF o H Gy YT S # HH F
HNOT BT 21 HFBT HHA 1 I g R # g,
Safe TR # A F9 § gl gEEe & e #
T, T T TR
144. Which breed of cow is dual purpose?

T Y RIA-HT TET GRS 3GV Tl &7

(a) Jersey/STgf (b) GirAR

(c) Sindhi/f¢t (d) Tharparkar/IRHT
Ans. (d) : T 1 IRIRE &l ST 32T H 21 T8
T TR H U AR SR # 9 §9 F 9 S
21 T T F T GRG N gAgS qEe TR § fE
I OB TE M W IR WA WOy (SeHY) 8l
TS H g9 AN T & AH § S S |
145.

India has divided in how many Agro Climatic

Zones?/9RA T HeA fehe HT Ferarg e §

SieT T §7
(a) 12 (b) 9
© 15 () 22

Ans. (¢) : YIG & o 15 PN Torarg &Ff F afer T
T IR TS H Ho 9 PN Serarg v # afer w4 2
TRT TH PN TUE I 8 T A Y F Y S
FY 3 399 ger FEf § ol gl @1 9§ ¥ 9
F P W IR TG FRH B IHE TS |

1. ifisF 2. HEITT &

3. GEHATEHS Hh 4. TSf semafe S
9E F s A, JoeEeas U@ ga e
fafeprard Teft @ S Tt o TR F GO S B B
Sieated et 8| Tl W geHd: diF BEel Ja1 &t S 2
1. @ & 9 2. T & BHA 3. SIS H O
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146. Who is the writer of 'Rajpoot Painting'?

‘TrTge UfET’ & orEeR i 8?2
(a) Rai Krishna Das/T3d ™7 ¥
(b) Ananda K. Coomaraswamy

AR %, HAREATH
(¢) W.G. Archer/Ss3 Sif. 3R

(d) None of these/3TH T B8 T

qoye:  Hell, aNgEal, foedden R g " &
AATIHAH F FROT FBRT g dvaqel T9 9,
Hed, s, aiei o FRE % fmivl won R argwen
7 f¥rew = 39 SraEnunsti #it 39K fHaAn) fredt fesmea &
T AT T HI A A e S 81 F FH e,
s, Hieplas o & Tahd ¢ 1 feegd &1 s

ST St & B |

Ans. (b) : TSIQA 9T % o@s A=< FAR @t § @
1916 ¥ foran a1 e faftr gl &1 gmie faor &
ST WG STTEH T TS ATl e 1 3ieh e @ 8l
T R v o Wt # o e e T 2
TH Hell & Sl hae TSR & el & & @i

A B

147. Folk Art is associated with
TR SHelT ol THI=T B—

(a) Painting/femhet g

(b) Regional Art/&HT FHer |

(c) Modern Art/WHﬁ% Fel I

(d) Pre-Historical Art/SHIfeRRT el §

149. Aipan is associated with which State?
UUUT kT T forT e | &2
(a) Madhya Pradesh/q&d EEN
(b) Uttar Pradesh/3tX TR
(¢c) Maharashtra/HgNIeE
(d) Uttarakhand/3dUW@vs

Ans. (b) : T ST H Ty &H1T Hell § &, Alh Hedl
T gEE # G FArEs e 2, 9 TH
AR a1 S 9 % gewd g) faffa e @ Rl
AT GEHfT B GRE e 21 fg 7 9% om &
FOh g FHEll Sefadl # sEfe €1 PR TSI
TR AT & PR e S A R e §
A SAETE § Sl g €

O Tt T AV Hell—

Ans. (d) : ‘U907 T Ty STEE T § 21 e &
ot § ‘mye fEwen wag &1 ewer wansd #,
Fael F FE WE @R SR 3Wal ¥ 2, 3% e
qEl H STEAT-37EAT AH Y S ST R

TS - e TSI - g
3.9, - =i g T - T

ANe—20 9T § 9 FHiaw & TH G S S0 R

qIfeRr - TeRE = qEAT- 3T
doed - foRR
148. Geometrical design is called
wenfireter fesgT wed -
(a) Design made by geometrical forms
sttt el @ S ST

(b) Geometrical forms/aEda STHRI 1
(¢) Design made in square/aT # ot fesgT i
(d) None of these/3TH T Hig T

Ans. (a) : ST fEsega sanfider s @ o+ emfa
H FEd | A H TH A agIeA SR 7wk
ST ?{E!Fﬂ RES ﬁl’éﬁtﬂ@? (Geometron) 1 EpEil qeq
21 Rrar w e gy et digm @ e B-mmoem

150. How many total numbers of Shrutees are there

in Hindustani Sangeet?/f&gwm=t wifta o

gferalt st et fehert weT Wit T @2
(a) 13/0@ (b) 22/a1EH
(c) 12/a1@ (d) 9/t

Ans. (b) : fegwr &ifia 4 gl & $o den 22 W
i &1 R s i @ 98 91 ¥ S A" S
FH H TE GAE T, T A ST Tb gfd g 2|
TEAER GfT F ARA I ER F 8- oA 3hT g
AT ST TES B F G S 98 4T 2

TAH—TA @R % GUE 5 5 Th 54 § el ol @
1 foran T @ 7 3§ gwh ded §, a9 § oH %%
T € 5 @ § el wR HAER 2 &1 ST H
frdr @, 3, 7, ®, 9, ¥, 9 98 T @ 2|
THEAT—Fga A H § WA El &1 dedar A wed
SH F A 2, TGH FAN deel, Qb MG A W
fora S 21

AET—H § T A9 & fod 9 seR & A fen
ST 3W AET Fed & | WEISH % MU W aMi &
Bt 21

G i el il B M i i
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